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Mapwork

Questions 1 to 12 refer to the 1:50 000 map of Gwanda (Zimbabwe).

1. Which grid square has the largest number of buildings and huts?
17 18 19 20 21
90 90
A B c D
89 : 89
17 18 19 20 -21

2. What is the m.airi source of water for the Reservoir and Irrigation Scheme in

grid square 19907

A Hulube dam

B Nkazhe dam

C Sabazimba dam

D Samakuto river
3.1 Which feature is located at point 090828?

A mining dump .'

B rail bridge

C- sewage tank

D sports stadium
4. What is the grid reference of the Trigonometrical Station on the top of Mt

Cazalet, south of the Gwanda town? '

A 081812 B 082811 C 098829 D 089828
Quéstion's 5 and 6 refer to the two Tri'go_nometrical Stations in grid squares 1084
and 1485. ' - '
b. What is the straight line distance between the two Trigonometrical Stations? "

" A 3500 metres B 4000 metres C 4500 metres D 5000 metres

What is the grid bearing of the Trigonometrical Station in grid square 1485

~ from the Trigonometrical Station on Spitzkop in grid square 10847

A 076° B 104° C 256° D 284°



10.

11.

Do >

In which direction is the general flow of the river Nkazhe, through the
Matshetshe Communal Land?

A north-west to south- east

B north-east to south-west
C south-east to north-west

D south-west to north-gast

From a hill-top a person can see a Business Centre to the north-east.

fn which grid square is this hill-top located?
A 1084 B 1485 C 158¢ D 2188

Where is settlement in the Matshetshe Communal Land mainly located?
A aiong major river channels

B along tarred roads

C around large dams

D  around the edge of cultivated land -

The map shows some evidence of mining activity in grid _squara‘0987.

'Whlch type of evidence is not shown in this grid square?

A Excavation
B Mine dump
C Mine name
D Prospecting trench

Study the map area shown.

Which type of jand use occupies the most land in this map area?

mining
recreation
settiement
transport
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12. Study the map area shown.

-

What-is the main drainage pattern in this area?
- A dendritic
. B radial
¢ C -rectangular -
- D trellis

S
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Physicall Environment

13. - The weather map shows the. average presswie and wind pattern in southern
Africa for the month of December.

Which area experiences divergent alr masses?

KEY

anac Warm front

- What is the cloud cover and wind direction shown in the diagram?

cloud cover | wind direction
{eighths)
A B north-east
B | 6 south-west
C 7§ south-west
D 8 north-east
&
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15. The diagram shows the maximum and minimum temperatures recordm at a
school weather station.

- temperature in
degrees Celsius

f highest temperature

25 Wﬂ

20}

15} \'

10 3
bt lowest temperature
B (minimum)

Mon Tues Wed Thurs Fri

What was the average temperature for the station on Monday?
A 7°C B 16°C € 8°C D 32°c

16. The diagram shows average temperature and rainfall at a place”

. 30 -
- temperaturg °C - S
%0 “’\/_
.10 4 “ k
- total 577 mm -
= 1004 =
rainfal mm -+
A 50 A s
R ; J FMAMJ J ASOND

Which climate is represented by the graphs? '
A Equatorial - -

B Hot desert |

C Mediterranean

D Tropical continental

17. WhICh human activity may lead to the formation of acid raln?
cloud seeding T :
deforestation '

hydro-electric power generation

manufacturing

COWwR
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19.

-."#\21. .

Which instrument is used to measure earthquake vrbrataons?
A anemometer

B barometer

C hygrometer

- D seismometer

The photograph shows a rock feature common in Zimbabwe.

What is the main process responsible for shaping the surface of the rock
feature? :
A Dbiological weathering

B carbonation

C exfoliation

‘D freeze-thaw

Which conditions are needed for a river delta to form?
abundant coral at the river mouth '
steep descent to the river mouth ____
very salty water near the river mouth
weak sea currents near the river mouth

gow>

Whlch process is malnly responmble for the formation of pot holes on a river
bed? : .
A  attrition

‘B sorapaLr "
€ deposition

D . solution ”
Pz
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c22. The diagram shows a type of landscape commonly found in arid and semi-
- arid areas. " :

What are landscape features X and Y?

X Y

butte mesa
butte yardang
zeugen | mesa
zeugen | yardang #

OOm>

23. The diagram.shows a type of natural vegetation.




=24,

25. |

Which term is used to describe the highest level of succession of vegetation
and animal life in an ecosystem? £ g .

A climax community

B pioneer community

C plagio-climax community

D succession community

The diagram shows the vegetation and animal matter (biomass) in an
ecosystem over time. :

At which stage is it most critical to introduce conservation measures, like
destocking, to save the animal life and protect the snvironment?

1}

e i ——

i established - m

ecosystem
| biomass
biomass critical
level
disturbed ecosystem
re-establishes itself
- time
2248/1 J2000 - [Turn over
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Economic Geography

26. The diagram shows a cooker suitable for rural communlt:es in developing
countries. :

pot at

focus

of mirror

Which type of energy is used by the cooker?

A biogas

B firewood

C hydro—electrlcrty\
D . solar :

- % 27. The diagram shows rock structure containing a number of minerals.

mtres : - _ ' s

0'., T e D '\ . ' F. o
50 . _'_'..:': ‘ ; . . o ..:'.‘:._- < .'.‘,'-. .. g
100 2 ~ . ‘.. ' ' . wa ey
150 - | | 4|
200 _ o -
250 . | =

F-F fault iine : coal seams
i

Which mining methods are being used at 1 and 2 respectively?

1 2
adit drilting
adit | panning

'shaft | drilling
shaft panning

COW®>» _
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28

20,

30.

3.

- 32,

33.

What is the main method used for gully reclamation in Zimbabwe?
A afforestation ' '
B contour ridging

- € infilling

D - terracing

Which type of farming is most suitable for areas where there is plenty of
land, poor soil fertility, low rainfall and effective disease control?

A = commercial ranching

B market gardening

C  plantation agriculture

D shifting cultivation

Why is tobacco usually cured on the farms where it is grown?
A to avoid leaf deterioration -
B to reduce transport costs

€ to supply the tocal farm market

D to use local fuelwood

Governments of Third World countries are encouraging the establishment of

" processing industries at growth points in rural areas.

=

The most probabie reason for this policy in Africa is

A the availability of local markets.

B to encourage people to stay in established towns.

C to reduce migration into the main cities. ~ d

D to encourage the decentralisation of administrative functions.

What attracts the majoriy{/ of tourists from North America and Western
Europe to Zimbabwe? :

A business opportunities .

B mountains and limestone caves -

- € stone ruins and hotels

B sunshine and wildlife

The pie charts show percentages contributed by agriculture, industry and
services to the gross nationa! product (GNP) for four countries. -

Which country has the least developed ecbnomy?

B C

N/ ‘ . agricufture
Ve =Y Industry
S services

aE e,
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Population, Settlement and Trade

34. The map shows land use zones in a city.

To Victori.a_ Falls KEY.

‘Commercial

Harare % High Density

.| Low Density

9 Industrial

'''''''

The manager of a computer company lives in a big house with a large
garden.

Which land use zones represent her place of work and residence?

place of place of

work residence
A 1 i
B 1 4
C 3 2
D 3 4




35.

36.

o

The map shows the distribution of population in Africa.

E

km
0 2000
TR

Why does area X have a low population density?
A It is a desert.

B Itis cold and windy.

C it is hot and humid,

D It is mountainous.

Which population movement in Afnca involves only the econom:ca!ly active
population groups? :
A migration of labour to mines

B nomadic pastoralism’

C urban-rural migration

D urban-suburban migration

. 2248/1 J2000 . {Turn over
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37.

0.9 8 7 6 5 4 3 2

The graph represents the papulatioi structure: of a settiement.in a devetopm,g
country

MALE age FEMALE

1 i A" 3
percentage tal populaﬁon
WhICh type of settlement is. r { d by the graph?
A army camp = e B _

B capital camp

€ mining town
D rural village

38. Whlch of the following is not an advantage of the use of contamers for bulk
transport compared with traditional methods?
AC greater variety of cargoes
B* more jobs provided
C quicker loading andunloading ... . .- . _ -
D reduced losses ' PRt 4 W
39. The model shows how some African countries-déveléped-;t_f?risporta’t_i_on links
from colonial times (Stage 1) to modern times {Stage.3). .
'staGe1 | staee2 || STAGE3 KEY
Y ity 45 Ly &
R [ afﬂa Ot
; . agncultu;al
. development
8. mine
A marketing centre
~—-. tracks
— \raitways

Why has town 1 become the Iargest of the five onglnal points of entry

{1 to B)?

A it developed originally for exporting mmerals
It has a developed nstwork with its hinterland.

B
"C‘ 1t has the ‘bést natural harbour.
D

It is the shortest distance from areas of agricultural development.
224801 42000, ¥ '
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80. The maps show the exports and imports from Spain in 1990.

KEY
Wit of amow Wicth of amow
indicaies % of sxport indeades % of mporis
; 0 km 500 . . 0 km 500
3 g I I | Lty [ T Y I I
a 15% o 15%

With which country did Spain have the largest trade- deficit?
A France _ '

B Germany
C UK _*‘
D USA

Cdpyright Acknowledgements: '
Question 19 “ E M Munowenyu

SR 2000
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INSTRUCTIONS TO CANDIDATES

Write your name, Centre number and candidate number in the spaces provided on
the answer paper/answer booklet.

Answer four questions. : '

Answer one question from each of Sections A, B and C and one other questlon .
from any section. : :

Write your answers on the separate answer paper provided.

If you use more than one sheet of paper, fasten the sheets together

INFORMATION FOR CANDIDATES

The number of mark-* is given In brackets [ 1 at the end of each question or part
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Insert-1 contains F’hotograph A for use with Questlon 2. .

Insert 2 contains Photograph B for use wnh Question 6 and Photograph C for use
with Question 7.

Sketch maps and diagrams should be drawn’” whenever they serve to |Ilustrate an
answer. ;

This questmn paper consists o! 40 Pt o ,Jages 2 blank pages and 2 nserts
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(a)

{c)

Section A (Physical Environment)

" Answer at least one question from this section.

B

(i)

i}
(i)

(i)

" Draw labelled diagrams to show stages in the

formation of sedimentary rocks. 151

'How do either pressure release or acid rain affect

the rate and type of weathering of rocks? : [4]

(b)  Fig. 1 below shows part of a river valley.

Fig.1 -~

Describe the features of the valley shown. . 4]

What changes would occur to the valley if there was
a sudden uplift of the land? 5, _ [3]

State three probiems likely to be faced by people living
in the valley as a result of the sudden uplift referred to
in (b){ii) above. ' ' ; . 1

Suggest the benefits and problems associated with either an
area of inland drainage or gaysers and hot-springs. 61



{complete differences for 2 marks) 2 marks
(i} Description Explanation
low and stabie production primitive people using the resource
_ - low demand, poor technology
sharp rise high demand, improved technology,
more people.
stable peak renewable, can be maintained,
conservation.
siight decline over use at that point of time
constant regeneration or rebuilding
1S conservation, environmentai
‘ awareness
onstant s, conservation.
high and tfluctuating increase in population
pressure on resource.
1 mark each h ' _
‘ _ 8 marks 10
(b} name s '
fixing features
description
WiTBANK COALFIELDS TO SADC AND
oF SOUTH AFRICA FUABAZIMBI FORER FARKED
: i
-0 SISiE:J .T-OHAMNESW-RQ' : TO MAPUTD.
SALDANA I
Bav t VEREENI O

UTSMASBY

X
o CAPE Towa

o

N
"o PpRT ELIZABETH

Nl Y b .,\L\

35

EAsT LoNbon

{ 7o DILRBAA
"PIE‘T[
"I COALE(ELD
A [LimEsTone
-;}__!RD-‘J DF{I:;- DEP{;‘SITS
¥ 1 iRene Anib STEEL gk



Factors include:

- good communication lines by rail and road.

- Large urban markets provided by industrial cities like Pretoria,
Johannesburg, et¢.

- TPs that use coal

- Sasol plants that use coal as a raw material

- The iron and steel industry that uses coal

- Ports for exports

- lLarge poputation providing capital labour and market

- Favourable geological structure, e.g. stable seams with little
fracturing :

- Water from the Vaal and Orange river projects.

_ , 7 marks
1 mark for Name, 3 marks for using fixing features and
3 marks for description/ factors.

{c) Threats -  over exploitation; pollution, siltation.

Explanation pollution leads to death of aquatic life, health hazard,
lack of clean water, creates various water borne
diseases.

Measures  control pollution, legislation, reéycling, freating water,
purifications, education, underground water.

1 mark each 8 marks 8
| [25]
@ () A-silo ' B - supermarket 2 marks
(i) Advantage Disadvantage

Granary

cheap - can collapse,

aeration decompose, exposed to adverse

accessible 1o the weather, theft, can catch fire.

_ farmer, near consumer

Cold room

fresh products expensive to erect and
long lasting storage, maintain, requires and
no contamination/ uses a lot of electricity,

disease free - power failure



silo

bulk storage far from the farmer and

safe from weather consumer, expensive to build
elements and theft, and maintain, needs bulky

durable. transport.

1 mark each ; 8 marks

(i)  provides capital, expansion of farming activities, bether
implements, better storage, more production.

1 mark each : % roes

(o)  Organisations ZTA, Dairiboard Zimbabwe, CFU, Cotton
Company of Zimbabwe, ZFU, AFC,
Seed-coop, Cargil, Pioneer and etc. -

Services finance, training, research, technolog‘y,' i
: Marketing inputs, diseases control, banking
services, investment opportunities. '

hs

1 mark each : " 5 marks

reducing land pressure, equal distribution of resources,
increased production, improved income and standard of living,

- use or utilisation of land lying idle, employment of locals,
improved income and living standards, earning a living,
correcting historical injustices.

(c) 0

——y

Against environmental degradation, poor conservation, lack of
infrastructure, lack of capital by resettled farmers and
government, corruption, no loans for new farmers,
conflict between government and commercial farm
owners, conflict between new and former farm owners,
decline in export crops, decline in crop production and
food supply, decline in agro-based industries, negative
publicity, negative impact on economy. :
1 mark each ' 7 - [29]

(a) (i) trading, clothes hanging, clothes in piles, clothes on ground, a
lot of people, open air trading, sheds in the background, little
vegetation, cloudy day, telephone poles, untidy, colourful
clothes, women seated on ground, heuses, disorganised,
mainly-women, bartering, a flea market. '

5 marks by 2

37



A3AN e e mime s . Al R Y e g T |
i

/?afds/?fps reyrenchments, goods provision, negotiable pnces,
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hardsh:ps retrenchments, goods provision, negotiable prices,
empowerment of women.

1 mark each S : 4 marks

1%
(iii)  capitat, training, factory units, shops, trading licences, provide
stands provide water and sanitation.

1 mark each - ' _ h 4 marks

(b)  Fixing features Raw materials, transport market, labour, water
power.
e.g. ‘
Weight losing Sugar, timber, tea, ginneries, iron and steel,

Weight gaining furniture, breweries, soft drinks, glass industries,
' clothing, assembllng industries.

WEIGHT LOSING INDUSTRY —SU GAR
PROCESSING - TRIANGLE 9 HIPPp VALLE

L Stua Dam "
% Jj‘r we '/
b [ MacbpuJal! ’ -/"(r

M EWASINE

N
fysuisdmeanac

Ve SkGAR _
e PLANTATION

50uTH AFERI CA \ N 5 marks




(i) less capital needed, employment, cheap goods. nc need for
permanent structures (portable industry), government
. encouragement for self reliance or self - employment, economic
hardships, retrenchments, goods provision, negotiable prices,
empowerment of women. '

1 mark each | \ - 4 marks

. 13.
(i)  capital, training, factory units, shops, trading licences, provide
stands, provide water and sanitation.

1 mark each - : N 4 marks
(b} Fixing features Raw matenals, transport, market, labour, water
_ power.
e.q.
Weight losing Sugar, timber, tea, ginneries, iron and steel.

Weight gaining furmniture, breweries, soft drinks, glass industries,
clothing, assembling industries.

M A SUUNG D : WEIGHT LOSING INDUSTRY -SUGAR
- PROCESSING - TRIANGLE ¢ HIPPp VALLEY
Slbﬂ Dam 3 r i
o Tkrwe‘e /
A & MacDougall P4

P
_ -~
MRWASINE g

]
fysHisdmsanse
P E

g w

‘KE‘/[
el SkGAR
Vi) PLANTATION

i -x"" RA|L

\ R

N. Limpopo K. \" i s

—— .
(et ¥

a T——— -__._S“_"-""
SOUTH afrrRt c A

5 marks




(c)

(@)

(b

Causes = lack of water, poor market, government policy on

remittance of profits, taxation, lack of skilied labour,
attractions of Harare e.g. labour and market;
. aggiomeration factor, political instability.

- Effects " Industrial decline, unemp!oyrﬁent, out migration,“iack of

- development, underutitisation of infrastructure, ghost
towns, physical decay of settlement, rise in crime, loss of
market. % ¥ '

s : 7

-1 mark each ' [25]

(Reserve 3 marks for either causes or effects)

(i)

(i)
(i)

degraded, poor mud huts, poor blair toilets, p'oor fencing, dirty
and untidy, rural, deforested, dry, old zinc roof, brick huts,

crowded huts. G

1 mark_ each . 4 marks

Lack of fire wood, reduced production, diseases from dusty
conditions, famine, diseases from the toilets, lack of draught
power, lack of pastures resulting in death of animals, reduced
protein intake. _ _

1 mark each e 4 4 marks

resettlement, destocking, family planning, growui pomls
migration, conservation, improve agricuttural production,
villagisation, birth control, education. '

1 mark each | 4 marks 12

90% 1 mark
48 to 50% i 1 mark
Description _ Explanation

more males _ - cultural/historical

- lack of education
among females.

15 - 24 rises for both - more females and males

but higher in males from schools, .
-~ - males are more,

- employment age.



(a)

(b)

- 25 - 54 both fairly

high and uniform

- 55 -85 general
_drop in both

bigger drop in males

| Alternatively

e wq::king age

- retirements, deaths and

retrenchments.

- lowerlife expectancy, culture

consider specific and individual comparison or
descriptions of age groups or males and females

1 mark each

- {Reserve 3 marks for description or explanation)

8 marks
10

lack of education, prestige, free/cheap tabour, importance of the male
child, resistance to change or new ideas, reduced access to
contraceptives, early marriages, cultural/religious practices.

1 mark each

Characteris_tics

tall buildings

high human traffic

high motor traffic
commercial functions
centrally located

little industrial activities
little residentiat population

planning

1 mark each

{i} Location

SW

3
[25]

: Exgléna’tions

Iimited space

- commercial centre

commercial centre

high number of people

heart of the city, route focus
expensive rents and limited space.
expensive land and use mainty
commercial.

to use space economically

7 marks

Explanation

i

close to industries, close to transport
system. s ) ‘




| Ay

(i)

Outskirts of the city upgraded squatter settiements,

~ expansion of new residential areas.

Mabvuku and Tafara domestic labour for Highlands
(East)

S.E. Epworth domestic labour for Hatfield.
. North-- Hatéliffe domestic labour for Borrowdale
South - Chitungwiza dormitory or new resid?ntial areas.
~ Mbare oldest residential area, closer to

C.B.D and industries for labour.

West - Dzivarasekwa, Domestic labour for Mabelreign
Kuwadzana -
1 mark each : o - 6 marks

- Mukuvisi brings pollutants from industries and residential

areas '

- Manyame - pollut:on from Chltungwuza

- Squatter settlements along rivers bring pollution.

- Cultivation along the two rivers causes pollution.

- Chemicals from commercial farms along the rivers cause
pollution.-

1 mark each 3 marks

far from residential areas/noise pollution, accessible by road, no
other tanduses, flat vacant land a_vailable.

1markeach - 2 marks 11

prostitution, crime, drugs, theft, pollution of land, water and air, land
degradation, diseases, lawlessness, beggars, street kids, poachmg
stock theft, deforestatlon dirty, poor sanitation.

(i)

| (ii)

1 mark each 7 marks

generally poor forms of transport, inadequate modern transport,
poorly developed roads, refiance on traditional means of
transport, stow and inefficient transport.

1 mark 4 mérks

land degradaticn, goods going bad, carry little volume, death of
animals, 1 (one) bus is very unreliable, breakdown of bus due to

41



(i)

poor dust roads; bus may be withdrawn, poor marketing of
goods, overcrowded bus, overcharging, corruption.

1 mark each
Solution

tarriﬁg

banning use of sledges
introduce tractors
increas;e bicycles

1 mark each

4 marks
Explanation/Reason '

attract more buses, improve speed,
reduce break downs.

to reduce land degradation, to
reduce soil erosion. '

to eliminate use of sledges and

- animal power.

environmentally friendly, increase

mobility, cheaper, no fuel problems.
7 marks
15



-(b)

{1}

(i)

(it)

3 marks by "%

- port facilities, nearness, friendly relations, former colonial links,

more transport faci{gties, civil wars in Mozambique and Angola,
(reduced northern routes), greater diversity and larger economy
in South Africa, SADC links, TNCs operating in Zimbabwe have
headquarters in South Africa.

1 mark each _ , : | 5 marks

Countries very far except for Scuth Africa, very well developed

partners hence controls prices.

- colonial - suppresses or dictates to Zimbabwe - pegs prices.
- over-dependence on South Africa.

- landlocked position

- shortage of forex

- unfavourable trade balance.

1 mark each
2 marks 10
[25]
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Mapwork
Questions 1 to 12 refer to the 1 : 50000 map of Concessnon (Zmeabwe)

1. In Whlch direction is the general flow of the Murowodzn niver (gnd sque
7671)¢
A south westerly direction
B northerty direction
C  waesterly direction
D north easterty direction

2. In which grid square do you find a dip tank, a reservoir and buildings?

A 7865
B 7570
c 7874
D 7168

3. The feature found at grid reference 774741 is

A a dam. _
B an ox-bow. lake.
- € a seasonal marsh.

b a reservoir.

4. What is the léngth of the asrodrome Ianciing area in grid square 76737
A 600 metres
B 800 metres

C 1 000 metres
D 1 200 metres

5. What map evidence suggests that the area of the map extract shown
below is a mining area?

_ /
— Z

78 79

O
o]
-

/

67
80 1
’ :': railway

. '@Servoirs
- guarries

mine dumps

o



The bearing of the spot height (784647} from’ the tngonometr[cal
station in grid square 8269 is

A oage.
B  052°
c  180°.

D 218¢°.

The shaded area shows a piantation

R7-

/

\
\

1777 /%
77 %%

aE -65
33 85 86 87

N

LY

NN
\\\\\\\\\
N

Y

Which_of the following suggests that irrigation is used in the area?

A ssasonal marsh
B perennial rivers

C furrows

D boreholss

. What is the altitude of the ressrvoir in grid square 78677

1340 metres
1320 metres
1300 metres
1280 metres

TowR

F248/ N2CTo
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9. Study the map area shown.

- 77 78 70
75 75

ra—EZ

E / 74,
73 i§;§§§?222229 .73
72 /{— 72 |

7 718 79

71

The shaded areas show

A medium bush.

B dense bush.

C sparse bush.

D very dense bush.

10. Which sketch section represents the land surface from the
trigonometrical station in grid square 7871 to the spot height in
grid square 82707

A - B

1871 N2000



rﬂ. _ The diagram shows four locations on the map where a type of
activity takes place. ‘ :

|

12.

80 81 82 - 83

80_ o l 80

- X

X
79
— 79

X

78 | = 78
80 81 82 83
CKEY: X = ACTIVITY

Which activity is taking place at the four locations?

A
B
C
D

recreation
education
agriculture
commercial

The settlement pattern of the staff quarters shown in grid square 8465 is

A
B
Cc
D

nucleated.
linear.

_'scattered.

circular,

A2ABIT e

_ {Turn over
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Physical Environment

13. The diagram shows lines of latitude and longituds in the northern
hemisphere.

30’

Which one of the following angles shown on the diagram above is longitude
30°wW?
A angle X0Q
B - angle XOZ
Cc angle NOX
D angle XOY
¥

14, ~—

cantimetres
to sevaral
m*etres

-The diagram shows a landscape formed by weathering in limestone
areas: : ‘ {

The features marked X and Y are called

rift \}a!ley and horst.

A
B grikes and clints. _
e anticlines and synclines.
D . wadis and playas.
' = 224811 N2009
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Students visiting a volcanic area saw a fountain of hot water and
steam ejected Into the air at regular intervals. What did they see?

A a geyser _
B  acraterlake
C an ash cone
D a hot s_pring

During a period of generally calm, settled weather, a coastal area experiences
a breeze blowmg inland from the sea for several hours.

night | R night e
' . F - “‘ . ; -, ; 1) g . ’. # . ““‘ + -

,,\‘Vllhlch diagram A, B, C or D shows the conditions which cause the breeze?

47. The dtagram shows a river flowing across the valley stage.

At whlch one of the posmons marked A, B, CorD is a rlver cliff likely to
develop7

[Turn over
51



18.

19,

20.

21.

A

'The above cross-section shows

A an eroded anticline.

B a rejuvinated syncline.
C a rift valley.

D river terraces.

'She wakened to hear the rain lashing against the windows. During the nigt
the South West wind had strengthened to some 40 knots, the temperatur

~ had fallen to 6°C and the sky was almost covered.'

‘Which of the s_tatlons A,B,CorD represents the description?

Dykes, sills and calderas are all features of

A  flood plain erosion.

B land reclamation.

C volcanic activity.

D earth movements.

What instrument is used to measure the relative humidity of the air?

A wetand dry bulb thermometer

B rain gauge
c mercury barometer
D maxlmum and minimum thermometer

Y




23.

towards the equatorial zones because of

A increasing average monthly temperatures.
B a shorter.dry season. - ,
C a decrease in the number of herbivores.
D decreasing annual rainfall. ;
Moved Joint “

24,

block » : |
"

Down bending

" The amount of tree-cover in savanna grasslands tends to increase

The situation shown in the diagram above is caused by

A lava flow.

B alluvial deposition.
C -sail creep.

D wind erosion,

Study the diagram below.

o
e

Unbalanced cycling _.----=~<_

-~ ? b

’f’ : . Breach
/ Shortage of firewood v Dungand
cropstalks

i
)
i
!
1

——

used for fuel

B,

_ Nulrients  ’ Erosion of topsol
~. _not replaced, ~”

-

A solution to the problerin of unbalanced nutrient cycling would be

A - afforestation.

B contour ploughing.
c gully filling. -

D de\forestation.

224811 N20ODO
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By

25. A student went to _read the maximum-minimum thermometer at a school
weather station and found it as shown in the diagram.

;'lll‘r|;11'

Gc uc
~25 ——— aicohol
-20 £
=15 4
-10 index
-5
o
543 |
e 10 _ mercury
18 0
20 -5
8 -10
30 -15
L -20
40 -28

What was the mean {average) tempsrature for the station?

26.

A 10°C g
B 162C™ 0
C - 20°C e
D 25°C .
Economic Geography
Grou'ﬁd level

/// _’ ‘ s VT Valley— ' ::. _
. ; N/ C;Jal-seam

Coal-seam

o

NN

/22

The type of mining shown in the diagram above is

oOwmp

adit. _
alluvial panning.
opencast.

shaft.

224871 N20GO




All the following raw materials required for the steel lndustry at Redcliff are
locally available except

A iron ore.

B limestone.

C  manganese.
D coking coal.

A general fall in prices of agricultural commedities on the world market
would have the most effect on a “

A shifting cultivator.

B .. plantation {estates) farmer.
C peasant farmer. : )
D nomadic herdsman,

Africa has developed less than 30% of her estlmated hydro-electric powar
potential. This is because of

- A insufficient demand for electricity.
B abundant reserves of coal.
C - the seasonal flow of many rivers.

b lack of suitable dam sites.

The diagram shows four possible sites for a new steelworks.
The production of steel at the new works requires twice as
much 1ron ore as coal.

-’ Coalfield
,produ" SN

/good///

== Railway line

@® Possible sites

(", - g
:Co;;;'}g Low grade 4
;0 iron oré 0 km 2
/ -deposn S

if the cost of transporting iron ore and coal is the same, at which site A, B,
C or D will the new steelworks be bLuEt in-order to maXIlTIlSB transpor® costs
for the raw materials? :

2248/1 N200O
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31. Study the pie-charts showing the proportions of primary, secondary
tertiary employment in four countries. :

KEY
prin

C

P secC

1 tert

Which country A, B, C or D is the most developed?

32. The map shows the numbers of tourists, from selected countries,
who visited Zimbabwe recently. ;

; Q Rest of
ZambiaO - B : Africa
.' A Kariba C

g

- Harare
14
Eastern @
Hightands
28

HOTEL .
ACCOMMODATlON Masvingo
i %ngo% 14
oAs WHERE TOURISTS o
Each storay fepresents 250 - COME FRC');*::E:I

bedrooms. Tha figure besida

. the location name shows the
. rumber of hatels. D Y
— 25
o == 10
P . South ; —

Africa

Which source country A, B, CorD contributed 100 000 tourists?

22421 R2000
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i Study the diagrams which show changes in energy seurces in the u. S.A.
between 1967 and 1880,

Hydroeleclricity 4% Hydroelectricity 4%

‘ Coal 22%
Natural

gas 31%

Nuclear power 5%

MNatural
gas 24%_

4 B . 0
Petroleum 43% Petroleum 47%

1067 | | 1980

Which energy source showed the highest increase between 1967 and
19807 , _

~natural gas
hydroelectricity
nuclear power
petroleum

R-Re 15

Population, Settlement and Trade.

The number of pecple in an area divided by the size of the area is a measure
of

A overpopulation.

B life expectancy.

C - population density.
D . birth rate. |

The table shows the results of a surVey'carried-out in a developing country
to find out the reasons why heads of households were moving into the city.

HEADS OF HOUSEHOLD % | REASON FOR MOVING INTO THE CITY
. e8 . X |
13 to start a business
12 to join a member of the family
4. < -} for education
3 : because of a family quarrel
100 |

Reason X Is to-

find cheaper housing. .7 -
find entertainment. )

be nearer to a hospital. -

find paid employment,

oW

TIARCY MZADD

[Turn over
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38. Which one of the following provisions by a gover_riment would have tt
greatest impact In improving the quality of life in squatter settlements?

A a bus service into the city centre

B clean and safe water supply
C .shops for renting
D recreational facilities

37. The map shows the location of four proposed sites for a new village.

Bush ssvanne
£

T _ _
* ‘ . F
W 1 i 3 Blufls . s
: . i . : . 1 .

Waoody savanna ! |1

A

‘—_ - —

-

Rich slle s | Good grazing | we | Mareh r.-‘""" Trark E Haigh! I mairas

Which location A, B, C or D is the most suitable?



. The graph shows changes in the birth and death rate in a country over a long
period. - ' w

igh |

| —— death rate
“~ —we birth rate

rate

‘h‘--‘-.
.ll---.-__ s

iow : ] | l e
A - B . . C D - time

At which _s‘htag"a A, B, C or D was the total population g'rowi\ng fastest?

. The diagram shows the units of production per head of population and birth
rates for four countries. The death rate is the same for ali the countries.

e Be D
5§58
g 2 2000~ ..
8§
o & |
5 ©
.
— g | A
S 10004 = Ry
a
0 .
| I ) | |
¢ 10 iy T - .

birth rate per thousand per year

Which country A, B, C or D is least likely to suffer from prohlem's of over .

populatien?
ZpAg T N2DTO : - _
[Furn ¢ ter . -
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40. The map shows four possible locations of Mrs Dube's home and workplace
in a city. . ' ¢

workplace - #@

built up area
Central Business District

motorway

main road

| ||| ERNoo

road

Mrs Dube is the manageress of a department store and lives in a modern
detached house with a large garden. Which letter A, B, C or D is most
likely to represent both her workplace and home?
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POSSIBLE ANSWERS

MAPWORK (1:50 000 CONCESSION) o ECONOMIC GEOGRAPHY
1. D 2. B 26. A 27. D
3. ¢ s B 28. B 28, A
5. D 5. D 30. D 31. A
7. B 8 C 2. D 3. . ¢
9. B 10. D

1. - A 12 A -

PHYSICAL ENVIRONMENT ' POPULATION, SETTLEMENT
' AND TRADE

13 D 14. B 4. C 35 D
15. A 6 C . 36. B 37. B
17. C 18. A . 38. C 39 B
19. D 20. C 40. A

21, K 22. B

23. C 2. A X

B8, - ¢

5K
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(a)

(b}

Se_ctionA {Physical Environment} |

~ Answer at least one question from this section.

i} Name the three classes of rocks.

L e

(i) With the aig of labelled diagrams, explain how the
- structure of rocks influences the formation of one
of the foilowing:

Castle kopjes
Underground caves
Trellis drainage

{ii) What advice and information would you give to a
- council to develop an area that has experienced

faulting?

Fig. 1 below shows a landform found in hot deserts.

hard rock
et

main wind

- Fig. 1
(i} Describe how the landform is formed.

(i)’ Outline the changes which are likely to occur to the
- landform over a long period of time. :

i) Strong winds pose problems for people living in hot
_ deserts. Explain the problems associated with these
winds. : o

ey
F

I

5]

(5]

[2]



{a)  Study Fig. 2 below which shows the hydrological cycle.

Cloud movement
Land to Sea e

R yiop toland

L] J"
o

-
LY \_’\‘\ ] “\“‘Q

Fig. 2
(i) Name the processes marked A, B and C and symbol D.  [4]

{ii) Exp‘léiri how each of the processes marked A and B lead
to the formation of rainfall. _ . [6]

(b}  Suggest the benefits to people and the environment arising
from cloud seeding and air pollution-eontrot, i7]

e

[(Turn aver
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{c)

Study Fig. 3 showing pressure patterns over Africa in July.

{a)

{b}

Fig. 3

(il = Describe and explain the pressure patterns shown
on Fig. 3. ' . [

iy State two weather conditions associated with high
pressure systems. : [

Study Photograph A {Insert {} showing an environmental problem.
) Describe the scene in the photograph. N
i} Explaih the causes of the problem shown in photograph A.I5

in many places in Africa, the conservation of the environment
has involved the setting aside of land for wnldhfe managemeant

schemes.

- i} Usmg the diagram below, state fﬁeqnputs and outputs

of such schemaes,

INPUTS - PROCESSES OU_TPUTS

1) ADAPTATION 3,
. S 2
2, - RECLAMATION i,
(4



(if) Explain how wildlife management improves the
conservation of the environment, _ 4]

(i)  You are to give a speech to the Department of Natural
Resources on the falure of many conservation
- programmes in the rural areas. Briefly describe the
issues which you will raise in your speech. {71

LoAE L NIERD o &
™R UveED:

67



(al_

{b)

Section B {Economic Geography)

Answer at least one question from this section.

Study Photograph B {Insert 2) showing a rural homestead.

{i}

{i))

(i)

Describe the uses of resources shown in the
photograph. )

Explain the problems associated with the methed of

{5}

31

cooking shown.

What measures would you recommend to such
communities to conserve energy resources?

[4] .

Study Fig. 4 which shows fishing grounds in South Africa.

ﬁ Pelagic | Off-shera trawlinﬁ
-7 Rock lobstar lnshore trawling

Lambeit's Bay

t. Helena Bay
Saldanha Bay
e Cape Town Mosset Ba

i :-'..T . a:" A

-
o
-
-
=

290 4|CIO £00

= ' Kilometres

@ Main fishing habours CiraticrsiBisning 2.

(i}

)

. Explain the advantages to South Africa of producing

Fig. 4

Dascribe and explain the distribution of fishing

grounds shown. [71

a wide variety of fish. {6}

e
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{a) In a field study of a farm, a geogréphy class obtained the
~ following results on the natural conditions: -

Soil | ' _deep. sandy loams

pH slightly acidic (6)

Rainfall T ¢ 860:11:11, seasonal
Temperature | Summer 21°C, Winter 18°C.
Vegetation cover less than 30%

Pests and diseases | insects, weeds, fungi

How would this information assist a farmer decide on

{iy  the crops to grow, | : (2]
@ farminputs, . . [4]
(i} conservation measures? - - (2]

(b)  With reference to a named example in Africa, describe the
-' advantages and disadvantages of pastorsl nomadism. (3]

{c)  The table below gives statistics on maize production in
Zimbabwe from 1992 to 1997.

1992 - 1983 12 600 tonnes
1993 - 1994 | 1350000 tonnes
1994 - 1995 | 1171000 tonnes
1995 - 1996 67 600 tonnes
1996 - 1997 932 000 tonnes |

{Source: CSO 1997)

{i} Describe the trends shown on the table and suggest
their possible effects on food security in the country. (7]

il  You are an Agritex Officer and you have submitted
to the government a proposal to expand co-operative
- agriculture in the communal areas of Zimbabwe.
Justify your proposal. : g - [4)

[Tum over



{a) (i}  Define the term beneficiation. 12]

(i) With reference to Fig. § below describe the process of

oil refining shown. {5]
- 3 _final produe
POLYMERIZATION such as
PLANT rubber,
_ I evizens,
adhe'slves,
petrol plastics stc
mf. s - ._
bt o J | S ? Xl octanapélm!
«® : ‘\t- e e *
¥ T kerosend | T <
2 I 5] tigh
- o Q2
@ - i
z}- > b
< \ : E= | residue
2 ightgasoil | Sp== =
ol - LS i
L]
ot
- .
[T :
- .
| ] \C—-—-"—"""-.oheavy gas oil
. ._\ {diesal)
crude residuss-
ol ¥ = later distiled o yield
 lubricating oils and
HEAT i greases, waxes
o 1 bitumen
Fig. 5
{iil Choose two by-products of crude oil and state
two uses of each. _ (2]

{b)  Fig. 6 below shows three industries with close links to one

another. '
Iron and steei | Building and

Works _ » Construction

b

™ Banking and
~* Finance

Fig. 6




iy  Describe and explain the relationships between tha |
~ three industries. : (5]

{ii} Explain the uses of raw materials required in the
production of iron and steel. _ (4]

()  State and explain the poiicies which you would recommend

in establishing new industries and expanding existing ones in
your country. _ . {7]

Section C {Population, Settlement and Trade)
Answer at least .oha'question from this section.

{(a}  Fig. 7 shows the functions of a multi-storey building in the
Central Business District (CBD} of a city.

7 :

/)_

{i} Describe and explain the functions shown. © 16l
(i} A town council decides to construct more roads and
clinics while the residents want more houses.. Put
forward arguments in support of both the council and
the residents. - _\ - | I
MW
; [Turn over
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{b)  Fig. 8 below shows part of Harare's "sphere of influenca” or
‘urban field’.

L.

CHINHOYI
L

BANKET

BINDURA
.

MAZOWE
* MUREHWA

HARARE B
NORTON »

L]
. CHITUNGWIZA

* RUWA _
& MARONDERA

CHEGUTU* .
BEATRICE

1em=40km .

Fig. 8
(i)  Describe Harare's "sphere of influence”.

(i)  Describe the benefits and problems arising from
Harare's “sphere of influence". I

With reference to a town or city you ha've_studied in
Zimbabwe, describe the differences between High
density and Low density residential areas.

(iii)

{a) The table below gives information on the population of two
countries A and B. '

Population Country Country -
characteristics A B
Paopulation growth - 0,1 % 3%
Infant mortality 12 per 1000 | 66 per 1000
Active population 57 million 7 million “
Unemployment 1% 40%
Economic growth 3% 1%

Life expectancly 75 years L 48 years

H2000




{) - State which country represents developed countries
and give reasons for your answer. . ; [7]

(i) Using the table only, explain the causes of

unempioyment for both countries. ; 4]
{(b)  Explain why there are low population densities in the lowveld
_ areas of Zimbabwe., . (7]
{c} Explain the relationship between rising poverty and declining
resources in Southern Africa. Make recommendations
to solve these problems. (71
{a} Fig. 9 shows total populations and the Gross Domestic
Products (GDPs) for the SADC countries. '
D.R. Conge
pap, 46.5m
. GDP§16.5b _ 3 %
Tanzen ;
: pop.29m Seychelles
GDP$§23.0b pop. 0 e
GOPS18.00) Bmrs 1200
oll.aurﬂius
pop. 1.14m
GDPS$3.06b
South Africa
pop. 41.7m
GDP$21.50
b = billlen -
4 m=m]]|lon
' Fig. 9
] {ii ~ What does the abbreviation SADC stand for? _ {1}

(i}  Explain how the variations in GDP may promote or
hinder trade within the region. - : (6]

{iii}) An expert has recommended that the SADC must
increase its trade links with the European Union (E.U.).
In your opinion, what are the merits and demerits of

such a recommendation? : (71
224872 N2000 =
77. - [Tum aver



{lv)] With reference to Zimbabwa. explain the measures the
country has put in place to boost lnternatlonal trade. [4]

()  Points in the diagram below are to be connectad by transport
routes. : |

1} On your answer paper draw and label a topological map
with a beta index of 1.6 (bata index = ——) 6]

() State two advantages of topological maps. [2]
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DSSIBLE ANSWERS

L {(a) {i) Sedimentary, metamorphic and ig.neous :

- t mark each 3 marks

(i)

Castie kopjes

!)Q’anl:l-ug rpcks,
boungu or

or

- well jointed granite rock

- rectangular/block jointing pattern

- selective deep chemical weathe ring along the joints
- stripping of regolith to expose inselberg

Underground caves

rock

umfe@muu,f
/I‘L'UEr

;
"F}

._.._—-(—f—*—r-———[/f I ‘;}Jmﬁﬁwf /uiw.sﬁ_'me

water containing célcium‘bicarbonaté drips from the cave roof. Whe
the water evaporates it ieave behind caicium carbonate in the formo

.,
ey
TR
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{b)

or

(i)

U

Trellis drainage

stalactites, stalagmites and piilars.

well jointed limestone rock

numerous bedding surfaces - -
solution along joints _ '
widening of joints to form caves

rectangular / grid faulting

rivers exploit fault lines

rapid headward erosion

alternate bands of hard and soft rock
folding may also result in trellis drainage

1 mark each
Reserve 2 marks for diagram

development of tourism, HEP, water sport/
recreation at water falls

mining can be promoted or becomes difficult
possibility of earth quakes; reinforcing of
buildings ;

~ and use of light materials for building

problems of setting up communication networks
due to rugged terrain '

use of flexible piping

farming on valley fioors

tea, coffee, timber on highiapds

1 mark each

(Reference o earthquakes - rr_laximum' of 2 marks)

E. Consec’;t&nﬂ' s
G .Sub.seq,u&ni' :

- 6 marks

& marks {14

- Heterogeneous rock/vertical bands of hard and soft rocks.
- Selective weathering and erosion.
- Wind abrasion wears away weaker rock at a faster rate.



(c)

{ii)

Description

- ‘high pressure over the Atlantic and Indian
oceans and Southern Africa i

- = - cold front over the western part of South Africa

-~ the [.T.C.Z. (Zonal low pressure system) lies to
the north of the Equator.
Reasons :

- movement of thermal equator/overhead sun

- northern hemisphere summer and southern
hemisphere winter
1 mark each 6 marks

(Reserve 2 marks for either description/reason.)

caim/settled/ stable weather

- clear skies/sunny weather

- fair weather cumulus clouds

- subsidence and out flow of air/ divergence
- surface temperature inversion

- radiation fog and mist

- - frost, dew etc.

- dry whether -
;i Low/ cool temperature
"1 Mark each ' 2 marks
- erosion/gullying, land degradation
- undercutting at the base of a river cliff
- erosion of river bank
= mechanical collapse/slumping
- siltation i
2 dry river bed
- a tree that has collapsed into the river
- bare ground
- sparse grass cover
- clumps of sail
- exposed roots
- ~ sand bank
e some tree branches have been cut off, etc.
' S marks by %

82
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(a)

(b)

(i)

(iii)

(ii)

Dom>

- Formation of a ridge and furrow landscape.

1 mark each ' 5 marks \

- ridges are reduced in size and helght '

- ridges disappear

- extensive erosion plain or peneplain is fon'ned

- rock debris on surface

- widening of furrows and narrowing of ridges

1 mark each . ' 2 marks

shifting sand dunes bury settlements, roads, water

sources and farmland

= dust storms reduce visibility casing accidents and diseases.

- sand blasting des‘troys crops, leads to corrasion, injury and makes it
- difficult to travel :

wind erosion opens oases and creates badlands. .

1 mark each 4 marks 1

.

Evaporation

Condensation

infiltration/seepage/sinking

Lightning

1 mark each : _ 4 marks

|

evaporation increases water vapour in the

, atmosphere

- when moist air rises it expands

- adiabatic cooling of air to dew point

- air becomes saturated

- . presence of hygroscopic condensation nuclei or carbon particies hel
condensation and cloud formation .

- growth of rain drops and falling as rain.

1 mark each _ s 6 marks 1

increased water supply

more vegetation cover

more pastie

reduced soil erosion due to increased vegetation cover
cleaner air ‘

healthier people/Reduced respiratory diseases and skin cancer
conservation of biodiversity ' :
more crop vields

more food

reduced dirt and dust, etc.
- reduced risk of hailstorms

less acid rain.;
reduced greenhouse effect :
1 mark each_ -7 marks



(b)

(i)

(iif)

Inputs

. fence

game
land
capital

soils which are easily eroded
sparse vegetation cover
flash floods §
deforestation
overgrazing

stream bank cultivation
over population

gold panning, etc.

1 mark each ; 5 marks

by

Outputs

skins
trophies
meat

curios
employment

vegetation | ‘foreign currency, etc.

water,

etc.

1 mark each | | 4 marks

" culling reduces pressure on

pasture/vegetation regenerates

relocation of game reduces pressure on land
money generated is ploughed back inko
protection of wildlife

selective grazing and browsing by the different
species reduces the danger of overgrazing
tree planting restores vegetation cover, efc.

10

building of dams and sinking of boreholes improves water supply.

1 mark each 4 marks
corruption

mismanagement

lack of capital/ poverty

poor planning

jack of knowledgefilliteracy/ignorance

drought '

poaching

lack of tand

_ poorly developed transport networks/

remoteness ;

political interference

population pressure

wood as only source of energy :

1 mark each 7 marks

15
[25]



(a) (i) trees | “ building, fuet, fencing, cooking sticks, axe handle,

stools.
grass - _  thatching _
iron and steel - drums, wire, axe
cotton : - clothing
clay -+ - plastering, decoratlon bricks.
plastics - wash basin
tin - - plates
water - cookmg food, beer, washing

1 mark each s 5 marks

(i) - deforestation

open fires waste wood fuel/inefficient

use of energy '

dangerous/ accidents.

unhygienic/diseases.
food poisoning

pollution

1 mark each 3 marks

use of bricks, corrugated iron sheets, and asbestos
use of electricity
- cow dung and crop resldue
- use of biogas, solar energy, paraffin.
tsotso stoves -
~ earth stovesffire places:
reforestation
- afforestation
Education .
-1 Mark each 4 marks 12

(iii)

(b) () Distribution of fisheries

- pelagic fishing areas near the west coast
- off-shore fishing more extensive on the
eastern side
- large areas of off-shore trawling on the western side
- small areas of rock lobsters around Durban and the
West Coast -



(a) -

(i}

M

{ii}

(iff)

Réaso_n_s

extensive shaliow continental shelf on the
west-breeding grounds for pelagic fish
cold ocean current, mixing of warm and cold

water on the west and upwelling of water — plenty

of plankton
many fishing ports/habours on west coast
1 mark each

(Rese_rvé 3 marks for either distribution/reasons)

- canned and frozen fish, smoked and dried ﬁsh

fish meal/ stock feed
extraction of oils/medicines -
fertilizer

employment

foreign currency, etc.

food, protein

raw materials

recreation

1 mark each

- sandy loam soils and moderate rainfall — tobacco,

groundnuts, maize and sunflower , cotton, soya beans
1 mark each

acidic soils - lime

- sandy soils - fertilizers, manure

seasonal rainfall - supplementary irrigation
insects, weeds, fungi - pesticides, msedludes.
weed killers, etc.

labour

capital to buy inputs

temperature - greenhouses

cover crops
controlled grazing
contour ridges

planting of trees
paddocking y
construction of dams -

3 ; 5 J =

7 marks

6 marks 13

[25]

2 marks

4 marks

2marks 8



{c)

" ne - Fulani, Masai OR East Africa, West Africa, Kenya

% mark.

Advantages

movement ensures that the livestock gets‘water

and pasture

movement reduces the problems of tsetse ﬂles (Fulani)
no limits on the number of livestock

Disadvantages

land conflicts _

difficult to provide services

disease control is difficult

overstocking — overgrazing

poor guality livestock

severe erosion around water holes

frequent loss of large number of livestock due to

- disease and drought

areas remain underdeveloped. ; 6 marks
desertification
t mark each -

(Reserve 2 marks for either advantages or disadvantages)

)

Trends _
1993-4  sharp increase

1994 -5 decrease
1995-6 sharp drop

1995-7  increase
Effects
1993 - .94 - food surplus

- more exports

1994 - 95 - deficits — drought relief,

1995- 96 - importation of food, starvation, etc. Food aid.
1996 - 97 - reduced food imports

1 mark each o 7 marks

{Reserve 3 marks for either trends or effects) -



(a)

(ii)

(i)

(ii).

(i}

(ii)

employment

shared iabour and knowledge

group purchasing of inputs and marketing

access to credit facilities/bank loans '

shared risks 4 marks
1 mark each

Initial Processing or adding value to a
product or mineral concentration. -

bitumen

chemicals

2 marks
heating
vapour rises into fractlonal tower
separation of various hydrocarbon fractions
heavy gas oils are removed
light oils flow into thermal cracker
blending of petrol
separation of gas from petrol
polymerization -
residue removed from base

-1 mark each : _ 5 marks

road construction )
- sealing roofs .

- asprin
- perfumes . 2 marks

Mark by %2 marks
iron and steel industries supply building and
construction with raw materials for reinforcement.
Building and construction puts up buildings for
banking and finance for investment and for security.
Banking and finance supplies capital to both
iron and steel and building and construction as investment.
Money from both iron and steel and building and

T

[25]

construction goes to banking and finance for security and mvestment

1 mark each (reserve 2 either for description or explanation)

5 marks
.iron ore - pig iron
limestone - flux
coke - smelting
water - cooling
87
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{c)

(a)

{1

(i)

- chrome - hardening steél, etc. 4 marks
1 mark each

Decentralization - equitable development in all areas.
Privatisation - encourages efficiency. ;
Indigenisation - empowers locals.

Import substitution - saves forex.

High tariffs on imported goods - protection of local industry.
E.P.Zs.- increase exports and generate employment.
Tax rebates- encourages investment. :

Lower taxes- encourages investment.

Encourage technology which is sustainable and fully
utilises the existing skills of the local people -

Labour intensive industries - create employment™
Develop industries which use local rather than imported
raw materials e.g. agro - based to save forex.

smart partnerships - encourage foreign investment.

1 mark each -
(Reserve 3 marks for either policies or eXpIanations).

- restaurant on top floor - good vaew and less noise
and congestion
- shops on ground floor for easy accessubllsty and
need for street frontage for dispiay of goods, floor
space more expensive
- . offices above ground fioor — cheaper floor space,
no need for street frontage, less noise and congestion

- basement shops storage and parking — cheaper floor
space :
- mall for relaxation and easy access to shops

9

[25]

- roof - communication equnpment no obstacles to dlsturb waves. -

1 mark each o 6 marks
(Reserve 2 _mal.rks'foi' either description or explanation).
Council |
- improve traffic flow and reduce accidents
- reduce congestion

- employment creation -
- improve health and welfare of people



(b)

(i)

= attract investors, etc.

= increase accessibility, etc.

Residents

- shortage of housing
- overcrowding

- diseases

- squatters

- crime

- - prostitution, etc.

1 mark each.
~ Reserve 3 for either council of residents _ 7 marks

- surrounded by many towns :
- several satellite/domitory settiementsftowns. '
- extends up to 120km g

= largely agricultural and mining towns and

.growth points.
- extends to the NAW to Chinhoyi, NE to Bindura,
East to Marondera, South to Beatrice and SW to Chegutu.
1 mark each ] 3 marks

Benefits

, labour

- raw materials
- large potential market

- supply of fresh farm produce

- entertainment

- employment

- housing

- decentralisation of industry

Prob_lems-

- traffic congestion

- unemployment

- crime and all forms of antisocial behaviour
- pollution '

2 primacy/ slow growth in sma.ller towns

1 mark each | : 5 marks
Reserve 2 marks for benefits/problems. -




(a)

(b)

(iii) -

(i)

High density

many small houses per unit area
uniform designs

fewer open spaces/recreational areas
narrow streets -

tower lights

many beer outlets, etc.

| Low density

large houses

large residential stands

varied designs

large open spaces

wider streets

street lights

more recreational facilities e.g. golf courses,

tennis courts, swimming pools, etc. : 4 marks

1 mark each per difference.

low population growth rate

low infant mortality rate

large active population

high life expectancy at birth
higher rate of economic growth

low unemployment =

1 mark each Reserve 1 for name _ 7 marks

rapid population growth

~ and slow economic growth (B)

large potential labour force for both A and B

slow population growth — unemployment for

certain classes of labour (A)

1 mark each ' _ 4 marks

remoteness
low rainfall
fewer mineral resources

~ low altitude and high temperatures

pests and diseases :
infertile sandy soils (Hwange area)

=%

12
[29]
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(c)

(a)

o state lands (forests)

- national parks and wildlife areas

- extensive farming types (ranching), etc. : 7
1 mark each

Relationships |

- rapld populatlon growth— rapid exploitation and

depletion of resources— deforestation, erosion, siltation, desertification, etc.
- shortage of water — unhygienic conditions — :

~ diseases

- lack of cattie — shortage of drought power and

manure :
- shortage of wood fuel — negative impact on food supply

- and preparation

- over fishing — reduced food
- poarching -» deception of wild- life.

Solutions

" birth reduction measures

‘e resettlement

- piped water schemes

- fish farming

- cattle restocking programmes

- use of alternative fuels, afforestatnon reforestation

% WIld life conservatlon

1 mark :
Reserve 3 marks for relatlonshlps or soluhms) 7 marks [25]

{i) Southern Africa Development Community
1 mark each - 1 mark
(i) Promote
- wealth from richer countries can be_us-ed to
assist the poorer countries
- diffusion of technology

- movement of goods and skills
- large population gives rise to a large regional market

91



(i)

(iv)

Hinder

1 mark each. Reserve 2 for either promote of hinder.

-

trade imbalances _
monopolistic tendencies

protectionism

some countries are poor
different tarrif rates '

Advaniages

~ forex
 aid
- technology

skills _
preferential markets

Dlshdvantages

-

quota system

price control

open market

destabilization.of governments

1 mark each. Reserve 3 marks for A/D.

trade fairs/exports

use of the internet to advertise goods
setting up investment promotion centres
South-South Co- operatlon

EPZ. _

export of labour

participation in foreign trade expos
joining trading groups
etablishing/opening trade missions in
other countries, etc.

1 mark each

6 marks

7 marks

4 marks



) @

% mark for each line i ; _
Y2 mark for node and % mark for edge 9 marks

(i)

easy to construct
- easy to process
- quick visual impression of connectivity

1 mark each 2 marks [25]

RK
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Mapwork

Questions 1 to 12 refer to the 1:50 000 map extract of Mbalabala {Zimbabwe]).

1.

sowp

In which grid square would you find a dip tank, cultivation and a prospecting
trench?

A, 2133
B. 2136
C. 1940
D. 2141

What map evidence shows that there is rriining in grid square 18387

A. Mine dump

B. Quarry

C. Prospecting trench
D.. Embankment

What human feature is found at grid point 119 373?

A. Staff quarters

B. Rifle range

C.  Sti. Stephens College
D. Shaw Barracks

The tength of Inyankuni dam wall is

A. 200 metres.
B. 250 metres.
C. 300 metres.
D. 400 metres.

What is fhe grid-bearing of the quarry {134 392) frem the summit of
Tsvakambeva kopje (104 338}? -

A. 28°
B. 162°
C. 208°
D.

332°

Iﬁ which grid square does the wide tarred road from Esigodini to Mbalabata
pass through a wind gap? :

0941

1041
1140
1234

224811 J2001
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1

ERRATUM NOTICE

Question 1:

To read as “... would you find a dip tank, cultivation and dams?”~
- instead of “... would you find a dip tank, cultivation and a
prospecting trench?” -
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7.

Study the map area shown.

43

14 | | 18

41

-43

41

14 | 18

What is the general direction of flow of Umzingwani river in the area shown?

A.
B.
C.
D.

North-East to South-West
South-East to North-West
North to South

West to East

What types of vegetation would a driver observe on the northern side of the
road as he drives along the wide tarred road from Mbalabala to the
Umzingwani river bridge ({2237)?

A.
B.
C.
D.

*

Sparse bush, medium bush, sparse bush.
Sparse bush all the way. '
Medium bush, sparse bush, medium bush.
Dense bush all the way.

Study the map area shown.

18 _ ' 23
42 / / 42
37 | z . . -
18 | " 23

According to map evidence, what is the main activity in the shaded area?

Cowp

Cultivation
Fishing

Plantation . _
Mining [Turn over

SRR



10.

11.

12.

The shaded area shows part of the map extract.
09 | 12

43 ' 43

41

///// / A

09 ' 12

The settlement pattem in the area shown above is

A. haphazard.
B. nucleated.
C. radial.

D. linear.

" Which grid square has a déndritic drainag'e pattern?

A, 1747 5 o
B. 1433 o

C. 1439 #

D. 0941

The Umzingwani river is not suitable for navigation because of the presence
of

A. dams.
B. islands.

. G. meanders.

D. rapids.



Physical Environment

13. Study the wind and pressure pattern below.

- // 7, /‘/_k% N.% Trade wirfids

& 23N-

Which air mass A, B, C or D_brihgs dry conditions fo the area it blows to?

.14. - The map shows weather conditions over Southern Africa on a particular day.

Which area A, B, C or D was experiencing anticyclonic conditions on that
day? .

2248.% J20¢1 : - [Turn over
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16. The diagram shows the direction and force of winds for station X for a period
of one month. -

1 or ; T——— .
variable 1-3 4-8 | g9-13 14-1§ 18+

The prevailing wind direction for the station over the period was

A. Easterly.

B. North-Easterly.
C. South-Wasterly.
D. North-Westerly.

16. Study fhe weather records kept at a school over a period of four days.

DRY BULB | WET BULB | BAROMETER RAIN | CLOUD.

DAY {%¢) {Pel {mb") CQVER
A. 19,6 16,5 1005 % )
B. | 194 17,0 | = 1002 — dg :]
G, 19,0 18,5 1000 " ®
p. | 195 17,0 1003 ’ ®

On which day A, B, C or D was the highest rainfall experienced?




17.  Study the rainfall and temperature graphs befow.

Altituded69m latitude 12°N
!_I]!llll]il.

. 304 -
C e =

Total 854 mm

0 JFMAMJJASOND

The climatic region represented by the graphs is

A, Equatorial.

. Hot Desert.

% Hot Monsoon.
. Savanna.,

O0OW

224511 J2001
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18. The diagram shows a weather phenomenon associated with a thunderstorm.

i | : :
ROICICICRGRGACRCIGRC)
layers of air, water
droplets and
hailstones rub past
£ sach cther, electrons
— = are transferred -
= charges build up on
=] cloud
o
=
heavy rain
0_

The weather conditions likely to be experienced at X and Y respectively are

A. hail and mist.

B. lightning and fog.
C. mist and thunder.
D. hail and lightning.

'49. The map shows the East African rift valley formed by a combination of
tensional and compressional forces. ' '

] :D werd EA ST
AFRICAN
RIFT VALLEY

Fauils bounding
rift valisy

Which feature A, B, Cor Disdue to cempressional forces resulting in down--
warping?

224811 J200%.



20, Study the diagram below.

ESCARPMENT

T -
| Clay '
The process leading to the disappearance of the river between points l
and Yis ' '
A carbonation.

B. = hydration.
C. infiltration.
D. oxidation.

21. The diagram shows a river valley.

N

CROSS-SECTION

o
»

y

‘Which point A, B, Cor D is rep‘re"sentad by the cross-section shown?

. 224801 J2001 [Turn over
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22. The diagram shows knickpoints K, and K, in a river valley.

Flood plain
"-v-—---—._.____ :
— L kel
_-n.-_-
oo Ki =
ﬁ-' x
“'h:‘\ 1-..._""-‘- ' ; .
B T i
— WO K ), —
- . \__\: e - %
L -~ am—"
e A —

Which process resulted in the formation of these knickpoints?

A.  Braiding

B. Flooding

C.  Rsjuvenation
D. Terracing

23,
i point X to point Y.

Height
{m}

Sand particle

The graph shows the movement, in deserts, of the same sand particle from

’

¢ r ‘¢- : :;.'Q ,."D."‘o

This type of movement is called
A.  siltation. -

2 suspension.

i saltation.

A surface creep.

oOw

»zakrl J2OCT
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25. -

24, The diagram shows an equatorial ecosystem.

50 [
40
g
®
£
0 = Their goadnass nutrienia} Leaves and branchea
ix takan up by tha [Adng fall from the trees all
travs through tha yeer
5 They ara quickly brokan 3
down In the heal by -
. bealles, fungi, and bacteris

The main activity' disrupting the nutrient cycle shown is

A. unsustainable safari hunting.

B. depopulation due 10 diseases. -
C. excessive logging by companies.
D. introduction of artificial fertilizers.

Vegetation zones resuiting from increasing altitude are broadly similar to
those of

A.  increasing rainfall.

~ B. reduced temperature.
-G, changes in scil depth.

D. increasing latitude.

22481 J2001
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Economic Geography

26. The diagram shows a series of wells harvesting underground water for a local
community. - '

S
.1«1 VT‘”"T“"T T
‘T‘-LTfT()‘» » TT -r?'r ?'.:':-T‘ - el

.Clay E Limestone

- Granite T3] sandstone

Which well A, B, c or D would provide a more permanent source of water?

27. The pie charts show the total consumption of energy for a country in 1870
and 1980. '

el gas hydro-etectric

: power
solid fuels liquid fuels

Which of the following energy types expenenced the greatest increase in

consumptlon?

A, Solid fuels

B. ° Liquid fuels

C. Natural gas o
D. Hydro-Electric Power - -

22461 J20M
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28.  The map below shows the mavement of oil in the world in 1993,

Equator

5
Thickness of flow lines is proportionate to percentages of total flow.
Which one of areas A, B, C or D received the largest volume of oil?

29. The maps show Ghana's original forest zone and the remaining forest
reserves. :

5 f-.......--—-...__.__-d-._.__...-s..._._.._/“"ﬁ"‘*-..

S ,I' s e n B 'J,c"——"—--—-—"*--.---.,_-./'_q}"-._____‘,i:
BURKINA} LRey - BURKINA | { Koy
FA$0 ! - Original forartzone} |+ FACH \..) Forest rasarves
{ 3 { :
T : - ,
R o GHANA g M oo |} ! GHANA /g Km g
E 'n-]} o Tamale g

What can be done to save Ghana's dwindling forests?

A. Grow plantation crops.

B.  Use substitutes for wood.
Increass the prices for timber.
D. Irrigate the forests.

226811 52001 . [Tum over



30.

31.

32.

The map shows development strategies to |mprove productmty and living
standards in communal areas in Zimbabwe.

- -

i
] Masving

Strategy Increase canying
‘ . ¥ capacity of
~ _ » communal lands
' . Resattiement into
t ‘1  marked gardens

' B near Masvingo

>

- Opening up new
! c g reseltlement
areas through
) " imigation
¥ schemes

Absorpticn of
D £xcess population
" Gammunal areas : to industry

[:] Commercial areas

Which one of the strategies A, B, € or D has the greatest potential to
improve agricultural production on a more permanent basis in communal
areas?

An agricultural development strategy invelving the production of high yielding
varieties of food crops and the application and use of fertilizers, insecticides,
implements and water control is

A. permaculture,

B. green revolution.

C. - shifting cuitivation.

D.  transhumance. -

Industries which produce bulky items on manufacture are best located near
A. the market.
labour supplies.

8
C. raw materials.
D power supplies.:

224811 J2001

110



33. The table below shows the percentage of holiday and business trips
undertaken by members of various social groups in a country. '

HOLIDAY AND BUSINESS TRIPS

Social Group 7 .
SHORT : LONG -
1 to 3 NIGHTS -% | 4 NIGHTS OR MORE - %
A. Managerial 32 e 25
B. Supervisory s - 26 . 24
C. Skilled Manual 25 Yl e L7 o8
D.

Unskilled - . X8 . ] eed % 2B

* Which social group A, B, C or D spends fl'ié:lmoét.time a"i_wéy' from home?
Population, Settiement and Trade

'34. The maps show land-use at a settlement in 1881 and 1981 respectively.

1881 4 2 5 1981

pake!

post

CHURCH office
2 e

The main change that has taken place is that the settlement has

F

A.  adrastically altered street pattern.
- B. more urban functions.
B decreased in services. _
D. less vegetation cover. _ \ e
| 224871 42001 " ¢ ; [Turn over .
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35. The sketch map below shows the land-use zones of a city in a 'déveioping
country. o " " P . . e _ :

\ Low COSTHOUSING . | RECREATIONAL LAND

¥7 | MEDIUM CoST HOUSING . o o] HIGH RISE FLATS

~%| HIGHCOSTHOUSING ©~ ~ || UINE OF RAIL
CENTRAL-B'USINESS.D'IISTRICT ' _ 174 ROADS
INDUSTRIALLAND R VACANT LAND

In'which of the zones A, B, C or D is a squatter settlement most likely to
develop? o - ' "

2248/1 J20G1
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36. The bar g_rap'h shows the averag"e annual population growth rates for four
fegions in the periods 1960 - 65 and 1986 - 90.

(per cent)
3.5

2.5

2

15

1 1
0.5
0

Latin America

Which region had the largest drop in its population growth rate from 1960

to 19907 3 '
A Oceania

B. - Europe

C. Asia

D. Latin America

224511 J20m _ [Turn over
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a7.

38.

The graphs show the rise in life expectancy for the male population in four
developing countries between 1950 and 1995, |

80

70

60

50
Nigeria

Lifa expectancy in years

40

anl i i | |
1950-1955 1960-1965 1870-1975 1980-1985 1980-1895

The country which experiencéd the greatest improvement in male life
expectancy is

A. Bolivia.
B. China. -
o Cuba.

" D.  Nigeria.

Which one of the following diseases could be controlied by the provision of

‘clean and safe water sources to communities?

A. Bilharzia

B. Cholera .
C. Kwashiorkor '
D. Malaria

58S 224871 J2001
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T

-39. | Volume of traffic on Zimbabwe's roads.

. asom 00T 15001000 $00 vwhiciem

The technique used to show the volume of traffic on the map above is

bar graph.

A.

B. scatter diagram.
C. flow line.

D. pie chart.

2248/1 J20D) ; [TUI’!‘I over
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40. The graph shows the value of exports for Kenya betweén 1986 and 1992.

During which of the following years did the country experience the largest

Value of trade{KE million)

2500 -
2000 -
1500 -
1000 -

500 —

Costs of imports

Tl

! I I | I | ]
1986 1987 1988 1589 1950 1891 1992
Year

" trade dsficit?

1988
1989
1990
1991

22481 2001
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{a)

(b}

_(c)

Section A {Physical Environment)

. Answer at least one guestion from this section.

‘Fig. 1 shows some landforms and geological pfocesses in Africa.

Aflas Mts me ===

Key
@ Composite volcano

---- Fold Mountains

+ Earthquake epicentre
' Fg. 1

@  Draw s isbelled diagram to show the cross section

_ of the Atlas mountains.

()  Using Fig. 1, describe how the Atlas mountains were
formed. '

(il  Describe the distribution of the earthquake epicentres
shown on Fig. 1. '

Some river valleys experience frequent floodihg. Suggest
the benefits the floods bring to both the people and the

environment.

Explain the prc;'cess of exfoliation.

22482 32001
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(a)  Fig. 2 shows information on Cyclone Domoina.

e

Lesotho % Cyclone positions

o

P

Key January 1884

. {ii)

(iif)

Fig. 2

With reference to Fig. 2. describe the formation and -

movement of Cyclone Domoina. (5}

State three effects of Cyclone Domoina over the land

~ surface it travelled across in January 1984. (3}

In your view, what steps should people take to solve

the problems caused by cyclones? : {7)

224972 J200 - [Tum over



{b)  Fig.3 shows climatic graphs for two stations X and Y.
X is in the southern hemisphere and Y in the northern’
hemisphere. The rainfall is the same for both stations
but the temperature is different. :

Temperature . ag
()

A

key .
-= =~ Station X Temperature
~——" Station Y Temperature

10

0
200 7
Rainfall
{mm) 100 -
0

F

b

TFMAMJJASOND

Fig. 3

(i} .Describe the type of climate for each of the stations

Xand Y.

(i}  For either X or Y, describe how the climate influences
human activities. -

224872 32001
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3. {a}  Fig. 4 shows the nutrient éycle in a Savanna ecosystem.

L)

Fig. 4 |
{i Explain the term 'scosystem’, ) {2)

(i)  On your answer paper, name input P, process R, loss §
and output T. ‘ - (4}

(iii)" Describe the role of plants in the ecosy‘ste'm shown on Fig. 4. (5}

2248/2 J2001 [Tum over
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{b} Study Photograph A (Insert 1) which shows land use |n an
ecosystem.

What evidence shows both positive and negative human
inte'r.ference in the ecosystem? | {7}

fc} - Desertlficatmn is threatenmg the survival of rural areas.
As a Natural Resources Officer, explain why you would be
concerned about this problem {7}
Section B {(Econamic Geographyl

Answer at least one question from this section.

4. {(a) Fig. 6 shows a sketch section across the Hwange coalfield.

Ingaguia hilt

v’
v v
v luuu
v ]
i e e .
For v Vv v v Fv"vfw'v’v.’\/v’\/\/w i p: |
A6 e
Key 3 - Ao, F _F
[ shale H Coal
L Sandstone 21 Granite basement
{1 Fireclay [E] Fault '
Fig. 6

(i  Draw a iabelled diagram to show the method of
mining the coal at Hwange. ' _ {4)

{ii) State and explain two problems likely to be faced in b
“mining the coal south of Ingagula hill. (4)

(b]  Study Photograph B {Insert 1) which shows the exploitation
of timber in Zirmbabwe. '

-

{i) Describe the scene in the photograph. | (3)

{it} Compare the advantages of timber production shown
in photograph B with that of indigenous forests. {7y

2248/2 JA00Y
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Photograph A for Question 3(b)

< Mr. 8. T. Moyo



(e}

b

advantages of each programmae.

{a}
by communal farmers in Zimbabwe. .
\\ l| ) ';;i: _—
L1y | ot wecza
Uy L1
\\I l!‘l { : Gutu
s G
\\\ :|II:;?‘E’,i Chipuriro
_ ST
NN\ Dande
s F T T &£~ L & 1@
0 10 20 30 40 50 60 70 80 90 100

% of farmers interviewed

{i

{ii}
(D)

{v)

Fig. 7 |

Name the type of graph used to show the
information on Hg. 7.

Discuss the

The use of coal is extending to rural areas while coal mines
are using trees to reclaim mine dumps.

{(7)

Fig 7 shows results of a sample survey on problems faced -

Key on probléms

: Draught power

; m Cash

E Tools
[] safisfied
= pests
] labour
B fand

(1)

Calculate the percentage of farmers with tool problems

in Dande and those with land problems in Gutu.

(2)

Using information on Fig. 7 only, sxplain why Hwedza
is likely to be the most successful farming area. -

(4)

As an Agritex Officer, what steps would you take to

solve the farming problems in the Dande communal

lands?

22482 JZ2001
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(b)

(&)

Fig. 8 shows a cotton growing system.

Physical inputs

Human inputs Cotton ) Lint

Processes Output

Growing

1}

- {H)

(i}

(i}

[

Fig. 8

On ybur answer paper, complete the diagram by filling in

the phys:cal inputs 1 and 2 and the human inputs 3
and 4,

Describe the processing and marketing of cotton in
Zimbabwe. :

Give an example of an industry for each of the

following types of technology: low,
intermediate,

high.

Explain why there are few high techhology industries

- in Zimbabwe.

The following conditions apply to an industry wishing

to locate at an export processing zone (E.P.Z.):
- ability to earn foreign currency;
conservation of the anwronment,
and taxation.

Explain the type of tachnology this industry would
use to meet the condit;ons above.

-

224872 J2000
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EE S T FRE. 5
L. & 5 ST
L ¥ Ko g

=y B 3 i
o RITRY

f Greater Cairo, Egypt.

- h

(b) Fig. 9 shows the industries o

Ismailiya

e
Giza
‘1
\ i Mogattarn Hills
(b‘iqarettes)-——{ “ryy o
‘i \\. ‘:’:
s (Sugar v
'\.( il : - ‘nu_u\:' _
X RS 3 <—3-(Cement) -

L %,
! 1 i 2 o
| T 31— (Spinning
i £n F@y. < and weaving)
! T AN {instruments)
\ : R (New workers
\ N &1 Zsuburb)
\ - (Cen:entﬁ
-\ Helwan 2
. \(Iron'and‘\ 5
\ 1\, stee 13
\ \ ;3
! N
Main railways _
¥ Other railways ' 0 ‘5 km
Urban areas ' I——I
Edge of cultivated alluvium
Stagés in the growth of Cairo
Fig. ©
224802 a2001 |Turn over
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(a)

(b}

{i} Describe and explain the distribution of industries
- in the Greater Cairo area shown on Fig. 9.

“{ii} - What environmental and human hazards are associated
with the industries found in the Helwan district of Cairo?
Suggest measures which can be taken to solve the

problems.
Section C (-Populatibn, Settlement and Trade)

Answer at least one question from this section.’

Table 1 shows the percentage of population in specific age

groups in selected countries in 1995.

“TABLE 1
Co.untry Under 15 15 - 65 Over 65
Brazil 32 63 5
U.S.A. 22 66 | 12
Italy - _ ‘15 - 69 . 186
Zimbabwe 47 | s1 | 2

)  What is the dependency load for Brazil and for Italy?

(il  Using Table 1, describe the differences in life
expectancy. ' :

fiiif Draw graf)“ﬁs, to scale, to show the age groups given

in Table 1 for the U.S.A, and Zimbabws.

{iv)] Explain the economic problems the countries are likely
to face as a resuit of their population structures and
suggest steps you would take to solve these problems.

(i} Explain the causes of rural to rural migration.

(i)  Describe the social effects of these migrations in
both ths source and the receiving areas.

22482 12801

130

7

A7)

(2)

(3}

- (8)

{7)

(3)

(4)



8. {a}  Fig. J1 0 shows part of the Mongu~Leaiui':di-étrict'in the Barotse
province, Western Zambia. '

{i) Describe the distribution of the villages in the area
shown. _ | _ {4

(i} . Give reasons for the distribution described in

(a) (i} above. (4)
(il  Outline the environmental problems faced by the

villagers settled aleng the Zambezi flood plain.

' Suggest solutions to these problems. {7)

224872 Jl2k [Turn over
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(b} Fig. 11 shc'sws't.he urban population in Africaasa

percentage of the total in 1924,

i
N b K
o Lt ey
N | B eo7s
A ] 4050
24 20-39
0 o019
iy '..'l' s
Fig. 11.
()  Explain the term ‘urbanisation’.
{ii) Describe the variations in the level of urbanisation -
in Africa shqwn on Fig. 11.
(i) Describe the problems of rapid urbanisation in Africa.

2243(2 12001
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Trips p'é_r_week

{a)

- 300

250.

- -Fig. 12A shows passenger transport per week betwesn

Harare and Bulawayo and Fig. 12B between Harare. and
Masvingo. :

300 7
2507 .
200

1507

Trips per week

1980 1985 1990 1995

Fig. 124 Fig. 12B

(i)

iii}

Key for both_ graphs
bus i commuter omnibus
PR (1= 11 t D T -air
W C._ompare the trends between Figs.- 12A and 12B.

lee reasons for the differences outllned in {a) (i)

'above

Outline the problems faced by the bus and commuter
omnibus transport between Harare and Bulawayo and
suggest solutions to these problems.

R o0 ; : {Tum over

e d 0

i—— —— R
~"1980 1985 1990 1985

(4)

4

7



. Key..

(b)  Fig. 13 shows areas of favourable 'and unfaVourable trade
in Zimbabwe. '

Favourable trade areas

U] unfavourable trade areas

Fig. 13

{)  Using map evidence only, describe and explain the

pattern of trade shown on-Fig. 13. - {B)

(i#)  Suggest measures Government should take to improve
! the areas of unfavourable trade shown. (4)

© ZB4E2 FI00Y
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POSSIBLE ANSWERS

£ g o {ay. () Diagram to show the following:

Diagrams of verfold : Lk £0F wud w
alsrnatives as 556-&3“;:: :wfv an wamf ,wm & cesfludle

Dverfeld

beRvSirata s oie “o”
F/ /// ///_/%// stmta

“-.'f bedlt;{tﬂj};/qag

¢
r
’
¥
& - P o
,//‘D 5
£
L
i 5 £
i

(5)
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(ii)

i

(b)

(c)

(a)

African plate moving north at its fore was the Mediterranean :
geosyncline. Erosion occurred, sediments were deposited in this

- geosyncline. As the African plate moved northwards, it compressed

the sediments on its edge which foided into anticlines and
synclines forming the Atlas mountains. : {5)

Description of epicentre distribution

- many infaround the Attas Mountains/North Africa

- many around the Red Sea/North East Africa

- many along the Rift Valley/East Africa

- one in West Africa

- afew on the eastern part of Southem Africa

- mention of specific countries, e.g. many in Rwanda and -
Burundi/Eastern DRC. (3) {13}

Bgneﬁté to people

~ Water to drink, water for livestock, fishing, transport,
~ industry, fertile soils, recreation, pasture, irrigation,

alluvial - mineral deposits, e.g. gold.

Environment
Plants bloom, food for herbivores, small insects, bacteria, aquatic |
life become active. T ' IR

The rock is heated by the sun, only the surface layer is

affected because rock is a poor conductor of heat. The

surface layer will expand because of the heat, by so doing it

peels off from the lower main rock. At night the surface layer cools

and contracts thereby peeling off from main rock. Repeated heating

and cooling promotes peeling in the presence of moisture. (5) {5}
: : : [25]

QOver ocean .
" - North of Madagascar
- - Sea surface temperature high/27°C
- Low pressure area.

() - Formation

Movement S.W. along Mozambique channel/between

Mozambique and Madagascar
. cyclone deepens/intensifies
Decay - over land, loss of moisture/weakness (5)
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(b)

(a)

iy

, (Iiii)'

(i)

(i)

(i

(ilf)

deaths, flooding, homelessness, food destructlon

_contamination of water, destruction of communication lines,

diseases. 5 (3)

evacuation, temporary shelter, food supply, clean
water supply, medical aid, burying the dead, rescue

~ operations. (7) {15}

Station X - Savanna, high temperatures

cool and dry in winter, warm and wet summer,
high temperatures; October to March, low
temperatures; April to September. '

Station Y - Mediterranean, cool wet winters, warm
dry summers, high temperatures April to
September, low temperatures October to March. (6)

Each point to be linked to climate.

For both X.and Y ploughing, planting, weeding,

protecting crops from frost, irrigation, harvesting, v

tourism, etc. 4 {10}
[25]

An ecosystem - the inter-relationships between the
living (biotic) and non-living (abiotic) things in any area. (2)

Input P - solar energy, carbon dioxide
Process R - uptake of nutnentsiosmoslslaaplllary
action/absorption

Loss S - leaching, nutrient loss
Output T - heat/gases, water vapour (4)

Process/feature Function

.. Photosynthesis - to provide food to the tree
Shade forroots - to keep moisture for the tree
Leaf fall - to provide humus, humic acid for chemical
- weathering, reduce transpiration '
Leaves - - to intercept rainfall

- to prevent erosion
- to provide food for animals, shelter

" Roots , - '~ bind soil/reduce erosion, improve

infiltration
- anchor the plant
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®)

(@)

" Use of machinery

Transpiration - - cooling, provides moisture,
S ' - provides/recycies air, i.e. oxygen

and carbon dioxide. : (5 {11}
Positive effects |
Irrigation - makes soils intact to prevent erosion,
bacteria become active,
preventing drying of soils.
Fencing - preventing over grazing,
to protect parts of the land.
Afforestation . binding soils together,
' increasing biodiversity,
Cropping - soil erosion prevented,
' biodiversity improved.
Ploughing/cultivation - ~ aeration of soil,

.- improved infiltration.

Ngg_ative éf-fects: The process/land use activity to be identified and
effects described as follows:

Ploughing | .- breaks the soii','érosion promoted.

compaction of soil, destruction of soil
-structureftexture, plough pan effect.

13

rrigation - salinisation, leaching

land is left bare, increased erosion,
reduced moisture from transpiration,

(7) - An

Shortage of water, lack of pasture, increased soil erosion,

Deforestation

lack of firewood, reduced rainfall, death of animals,

reduced food production, starvation, temperature changes/giobal

warming, loss of biodiversity/extinction of species. ' {7y A7}

: * [25]
(i) Diagram - open cast mine, -
' Accept - the stepped structure of the mine,

the dragline, tipper lorries, dumps
of overburden.



overburden

| 0fEN CAST MINE dump G o

d surface A A,

surfac . .

ground, Swriace 2 AN aao

' 7 country, rocks, :
M:nel}lffsfafm

F

Tk m'[////Z/////'//W

'Caum‘rymoks" i ,,r, : AL IR

. ' il £ ’

'77?//H//Mw'fm~77?////////7///T/////

4)
(i) Problem Explanation

- tunnel collapse - shaft mining used

- flooding of mines - seams deep under-ground

- gas explosion - - shaft mining

- mining expensive - seams not straight

_ faulting/broken seams
: : shaft mining
- risky | . -gas explosion/collapse/

rockfall/shafts/faults

4) {8



(b)

(ii)

(c)

(a)

()

- cut logs ;nd branches

- trees reshooting from stumps _

- trees in pure stands/gum treeslplantat:on

- trees crowded

- trees of almost the same height, ground flat, sky blue
dry leaves :

- bare/brown son tree bark

Timber production in photograph B compared to that of indigenous
forests: ' '

trees quickly mature,

trees in pure stands,

easy to control disease,

logs are straight,

trees are softwoods, .

easy to cut,

trees regenerate themselves from stumps fast,

cheaper to harvest,

clear/cleaner cutting

intensive use of [and/more trees per unit area. {7) {10}

Use of coal in rural areas

conservation of woodlots
introduction of new technology
reduced deforesiation

more energy is produced

better cooked food

reduced trips for firewood coilection.

Mine dump reclamation

(i)

(ii)

tourism promotion, _ ;

improve beauty of the environment,

erosion controls, .

conservation,

poliution controls, -

control of slumping. - . : (7 {7}
| [25]

Compound bar graph/divided bar graphlpercentage divided
bar graph : {1

Dande: tools 32 to 34% . :
Gutu:  land probiems 38%. - : (2)
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(i) Reasons:

almost all land used up -
small percentage with tool problems
large percentage of fermars satisfied

small percentage with cash problems |
small percentage with labour problems. — {4)

(iv) Solutions to Dande problems

[ ] ] ] L} E ]

Draught power: kifl tsetse, sestock, give tractors/

tillage units, use of donkeys
- Tools: provide tools, more hoes,
: steel ploughs, harrows, planters
Pests: | spray, burn, biological oontro'l, eg.
| permaculiture .
Cash: loans ' ' = (N {14}

(b)  Physical inputs:
' soil, water, land, temperature, air, climate.
Human inputs:

labour, fertilizers, chemicals, machinery, seeds,
knowledge/skills. . - {(4)

 Processing:
ploughing, hoeing/weeding, spraying, picking/harvesting,

packing, grading, baling, grading, ginning, washing, carding, spinning,
packing, lint baling. - _ ;



Marketing : as flow line shows

Middle person -
i T

Famer plocal . » gmnery__...._p textile
- depoticompanies,e.g 4 industry
COTTCO
COIPRO
CARGILL
-~ DYMANIC _
@ {11
- i [25]
6. @ () Low: making use of wooden ploughs, spears,
basketry, craft industries, cottage industry
intermediate: iron and steel industries :
High: computer industries, cellular phones
making : ; (3)
(i) - low technology in'the country
- reduced need for hi-tech mdustneslpoor local market
- . expensive to support/lack of capital
- back-up services poofr
- poor skills
-~ poor investment climate
- poor marketing strateglesiinnovatbceness (4).
(i) - mass production/line production
- recycling '
- reduction of waste products/efficient/non-polluting
- assembling of components
- standard equipment/products, ISO standards - (4)
| {11}
(b) Answer with description and explanation to include,

iron and steel in the south:- close to water
and rail

Cement at Helwan:- close to rail and labour
Spinning and weaving in area 6:- close to
farming area and rail

Cigarettes and sugar in area 5:- close to
farming area, main railivay line, market, water
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- close to railways line - transport |
- ‘close to Nile river - water D)

(ii) Hazards - water and air poliution, noise pollution’,
' destruction of vegetation, land degradation, diseases,
death of fish, land pollution/dumping

Measures - relocation-of industries, strict poliution
control policies, laws governing use of the land,
improved technologies, waste recycling, proper

dumping sites, education. . (7 {14}

' [25]
(a () Br’a_zil - 37% | i -
taly -  31% 2

(i)  Low for Zimbabwe, followed by Brazil, highest for
Italy, followed by U.S.A. ! (3)

(i) The diagram can be bar graphs or pie charts.

_ Either: As Pie-Charts

BREL
(15-65yrs)

UsA . ZIMBABWE
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Or: As Bar graph (divided/compound}

1001

7// . ey !

g 30" %

:_:;-' 60 over 65 yts
X
ﬁ 4o / /] 15- 65 yrs
F 20 =5 A under b yts
= e,

° et
USA ZIMBABWE
Coun{ry

NB. For bar graphs three bars for three age groups each
country can be drawn. - (6)

(v} USA.andltaly = -

~ Problems | ~ Solutions

- future reduced labour force . - encourage population
growth, immigration, capital
intensive technology

~ipo manyold peopte - old peoples home have to

be built

- a lot of pension funds needed - national social security
» programmes

- reduced population therefore - encourage popuiation
reduced market | growth, export goods
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(b)

(@)

(i)

(ii)

(i -

- Zimbab®e and Brazil

~ Problems | Solutions

- too many dependants- _- population control/social
: security/old people’s homes
- strain on the labour force - population control
- unemployment/need to aeate - investment v S
more jobs .
- inadequate facilities/need for - bti:l more, population

- more schools, clinics control

™ . {18}

- overpopulation, famine/drought, wars, jObS in mines/farms,

attraction in the form of more land and fertile soils, flooding,
volcanoes, intermarriages, social interaction/conflict.
| # 3

Source area:

- fewer people, families separated, increased
standards of living, reduced pressure of social services,
under-utilised servicesfinfrastructure, decline in
development. ' :

Receiving area:

More people, new social relations, cultural conflicts,

better living standards, scarce facilities, e.g. resettlement

areas. & o 4 {7}
| - {25]

- many on the flood plain

- linear along the Zambezi-

- linear along the escarpment

- scattered on the piateau _

- circular around pans and dambos (wetlands) - (4)
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(b)

(a)

(i)

(iii)

(ii)

(iii)

Reasons for distribution as described in (i) above:

Flood plain’ - flat, fertile, for water, for fish.
Escarpment - free from floods, easy to build,

_ spring water, free from diseases.
Plateau - fiat, free from floods, diseases,

- cooler, for defence.
Dambos - water, fish, fertile soils. (4)
Problems Solutions
-flooding-death -transhumance, evacuation
-malaria -spraying
-bilharzia -spraying and draining water
-wet soils/waterlogging  -drainage )

- This is the rapid growth of cities and towns due to

increased population or physical structure. (2)

- highestin Algeria

- . 2nd highest in RSA, CAR, Egypt, Libya,

Tunisia & Morocco, Zimbabwe '

. followed by Central Africa and West African
countries :

- least urbanized, Mozambique to Ethiopia belt,
Niger, Chad, Burkina Faso, Benin, Togo, Guinea.
Namibia, Botswana. (4)

poor housing., uhemployn'sent, squatting, strain on
resources/health, education-etc. increased crime,
overcrowding, spread of diseases, reduced living

~ standards, street kids/people/vagrants, prostitution,

pollution, traffic congestion. - (4) {10}
[25]

higher volume for bus in 12A than 12B, no commuters in
12B, lower train traffic 12B/started later than '

in 12A, air travel in 12B was lower, Jower volume in

12B than 12A for all traffic types. (4)

- higher bus in 12A - more passengers

- no commuter omnibuses in 12B - competitibn!

dominance of bus travel . o
- lower air traffic - lack of passengers, slump in
economic activities/tourism

. greater demand for commuter omnibuses in 12A
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- more volume in 12A '-,Iinking bigger

- cities/towns i 4
(i) ~Problems : Solutions
- accidentsfoverspeeding - more policing/defensive
" . driving
- overcrowding - - police patrols!more buses/-
ol use trains
- poor/narrow roads - widen roads, resurface roads
- touts - ban them
- shortage of fuel - buy more/more forex
- spare parts shortage . - forex availability (7) {15}
{(b) (D - along the central axisthighveld — linking towns

- mainly the main towns and cities — good
- tfransport, good market, trained labour force,
-~ many RMS, cool
- less in the lowvelds— less transport less labour,
less maricet, harsh physical environment: “ {6)

NB: Descﬁptibnldishibution linked to explanation.

(i) - develop tourism in these areas
' - establish EPZs
- improve agricultureftransport networks/
' power supplies
- resettle people in these areas
- establish growth points. 4 {10}
: - ' [25]
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Mép work
Questions 1 o 12 refer to the 1:50 000 map of Myuma (Zimbabwe).
What is found at grid ref_evrence 4485567

A  bridge

B junction -
C plantation
D village

The dip tank which is about 1 5 km north of Fairfield Siding (4455) is found at
grid reference point

A 446572
B 454588.
¢ 572448
D 588454,

Which of the following grid squares has the highest number .of huts?

A 4567
B 4667
L 4566
D 4666

The domlnant land-use |n gnd square 4554 is

A cultivatlon.
B  plantation.
C settiement.
D transport.

What is the length of the aerodrome runnlng across grid- squares 3867 and 3967

800 metres

1 000 metres
1 200 metres
1 400 metres

sow»
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- 6. The grid bearing of trigonometrical station 1542 in grid square 4165 from spot
height 1428 in grid square 4567 is . .

A 65
B 115%
C 240°,
D 295%,
F A tourist standing next to trigonométrical st

~ facing north-west observes a spectacutar ma

700 metres away. 1he feature is a

UOW}

8.  The landform on which Mtaa forest plantation is situated isa _

gow>»

9. Study the map area shown below. °

The settlement pattern in the shaded area is mainly

oo

cemetery,
chimney,
dump.
school.

marsh.

- ridge.

valley.
watershed.

clusterad.
dispersed.

“lineai.

rachal,

2248/1 12001

ation 1542/5 in grid square 4165
n-made feature standing out some
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10. Study the map area shown below.

39 | 40 41 42

69 g | —1—— 69

68 68

67~ 67

66— 66 .
» o ow a w

Which of the shaded land use zones A, B, Cor D represent‘s. recr_eafional land in
Mvuma? : L

F2248/% N2001



1.

12.

13.

Mo

" The dominant natural vegetation in grid square 4960 is |

A cultivation.

B  bush.
C  plantation.

- D . marsh.

Which of the following grid squares has the highest number of streams?

4366

A

B 4466
C 4566
D 4666

3 . Physical Environment

| Study the map of Africa below.

JANUARY AIRMASSES

Hot dry

North-East
trade winds

HP  Tropical
£

| 3
ATLANTIC 08
OCEAN '5
g
trade winds
Ny
HP High pressure S Strong winds
LP Low pressure W Weaker mc;ist winds

At which of areas A, B, € or D is a tropical thunderstorm most likely to develop?
' 2248/1 N2001 '
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14.

F.; Ty .
b u:* N Tl ek 1 f“

‘"The skies were nearly overcast ‘a South west win

knots was accompanied by a rain shower.

Wt STy

E‘l Blowiig at &€

Gt TEDEY

; i :-"/‘h\ L ,

{‘:\\ { S o

90\\\& g

R i ? S opnw
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A N1 e 1;‘.3:,‘_-';\":-‘- P

-

S o
oy IO TEGE

it isoigqott s 8t 3 v
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15.

Study the diagram below..

The period that showed the greatest ch

was

oO®>

-

'SUNSHINE HOURS AT A SCHOOL WEATHER STATION

Hours of sunshine

o Days

Monday to Tuesday.
Tuesday to Wednesday.
Friday to Saturday.
Saturday to Sunday.

2248/1 N2001

o o Sl Al I o
Mon Tues Wed Thurs Fn Sat

ange in sunshine conditions at the station
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16. The diagram below shows 4 mechanism for protecting people against a weather

hazard.

|l Yo other buiding

Over 4 matren

A m—— i fo— My - - b T -1

'|' i LSS
‘1‘".’-.‘4.& e

The weathér hazard is

A ﬂoodin'g.

B . hail
C . lightning.
D wind. .

224811 N2001 .
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17. The diagram below shows the rock structure of part of the seabed.

Which of the following processes resulted in the formation of this feature?

A reverse faulting

B overthrust folding

¢ simple folding |

D normal faulting | - "

18. Study the map below.

.0 28-39

O 40-49
-O>5.0
| 0 100km

Which of centres A, B, C or D would provide an ideal site for the construction of
sky scrappers? ' '

224811 N2001 i [Tum ov

157 -4



_Study the diagram of a granite rock structure shown below.

”ff’l‘lf’l"’

A A A T Y sU

Fi S N e A A R R A A A ace
LS T T T T T T . T T T
A N A AL AL aE A
LA

The main process that contributed 1o the formation of feature X was

A carbonation.

B exfoliation.

C hydration.

D hydrolysis. .

2 . 2248/1 N2001
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20. The diagram below shoWs part of a river valley.

21,

22,

Features marked ‘a’ are

lévees. T
biuffs.

interlocking spurs.

meander terraces.

w B B B -

potholes on a river bed?

A corrasion
B attrtion .
C  solution

D _deposition
Hot deserts are located on the western sides of continents because

the coasts are washed by warm currents. | \
the ITCZ is commonly experienced there. =
anticyclonic conditions prevail.

the trade winds blow on shore.

DOw>

- ; © 224801 N2001
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Which one of the following processes is mainly responsible for the formation of
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23. Study the diagram below which shows features 'produced by wind erésidn,in
deserts. g '

Harderrocks . &

g

43

Il I
! 1
b
_#Jl EE!

=00 )
Softer rocks

The features marked X are

A clints.

B dunes. “
C . pedestals.

D yardangs. .

2248/1 N2001
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24. Study the graph below.

°G
30+— ]
M B
25— 3
- ' 20 1 |
Annual range 2 °C
MM | Teial rainfall 2423 mm g
250 - o

200 38
150

100 i

The natural vegetation that is most likely to develop under these climatic
conditions is :

rain forest.

grass land.

monsoon forest..
Mediterranean evergreen.

0w

57451 NZOO0T ITum owve
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- 2b,
human occupation respectively,

Map 1-before

Maps 1 and 2 show the environmental conditions of ah area before and after

%/\\ i i '\ A* ‘A‘u,: b
oA

'u.ff.r wlez

AAU e ale e

% }f,
I i

W

>>>>>>>
e ]

:!I\\.II; Wl
'y .\\_li'.r

E \“.") \\“f i

\\. “{

/\ /\ AA b ” / 7 _\'1’.*,- b
/<\ /<\ AAAA A‘t‘ ‘!_.ml, wh //\\l\ “I:If |
/\ A\ e wle /\ .
N LLAi‘i i ,'('? AN "
| /\/\/\/\ AA‘ ‘ L* i //\\/;/\\ W -l
. A AY o /g i
//\\ /\ /\/>\A * A _ AAA aly \/\/\/\ ?‘, %1!# Wiy
| /\ ‘ *L A wley il ;\ /\/\ = 'fis‘\i.!‘:”"“m
Eal
1\ Mountains Campgrounds
Forest
w17 Grassiand
lrlrc_ ©P 5 ’ Reforested Area

-

Which of ecosysterns A, B, C, or D experienced the greatest changes'?

e

2248/1 N20D1
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Economic Geography
26. The diag-lram_ below shows a hydroelectric power p'i.ant.

i
1

' Transformer C e Electricity to users
= gam wall

Generator

_—Pylon

~4)

Turbine Tail race

The amount of power generated is mainly determined by the drop of water

between points

~

A 1 and ©.
B 2 and 3.
02 2 and 4.
D

2 and 5.

2248/1 N2001
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27. Study the diagram below which shows the rock structure of a potential mining

site. "

TOP SOIL /SUBSOIL _ Grass surface

4 i T itk T T

| "*.'_..ﬂ‘ ST
30 ‘T mf‘ m :
-metres STEEP CUFF FAC

deep R e _
e o : Coal seam

Which of the following mining methods would be most sqitab[e for exploiting the
coal seams?

A alluvial

B drift

C open-cast
D. shaﬂ

224811 N2001
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28.

29,

The map below shows sources of water for Harare and Chitungwiza.

A

B
C
D

Manyame R
Catchment Boundary —s=—-—-=

Lake Manyame
Seke Dam
Lake Chivero

Harava Dam

What is the most important aim of resettling people?

to increase social services

.to house flood victims

to accommodate refugees
to relieve population pressure

224551 N0

. 185

9 10 20 ?
km ! T R N
STW -sewage treaiment works 5 A e s
; : : _\_._—H._.::__x:__lﬁf;.—,_.

~Which of the followmg sources would provide Harare and Chm.ngm ﬂﬁ
least polluted water?

NI i 13
» m
B 5
[Turn over



30. Study the table below which shows production of four crops in Chiweshe
. eommunal area. : ' ,

PRODUCTld_‘ﬁ IN BAGS PER HECTARE
CROP | 1es0-s1 | 1e81-82
Good Rains | Drought
A | maize | 125 48
B | _SORGHUM | a7 24
C | GROUNDNUTS | 125 | so
D | BULRUSH MILLET 8,8 ) - i

Which of crops A. B, CorD suffered the greatest drop in production during the
drought years? |

31. The type of farming where farmers maintain a permanent home but rotate their

fields is

A shifting cultivation.
B- bush-fallowing.

C co-operative farming.
‘D - nomadic herding.

2248/t N2001
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32. The\maﬁ be!ow shows. the. percentage of workers employed in various sectors of
l“dUSW~m four countrles s w mp e g A

"-fnhnl e T ;,\.‘.". S )

Egypt

qh ‘a 4 ‘ Kenya . ’
Ghana "", | J

Nigeria

- Key

Primary
U | Secondary
.- ] Tertiary

Which of the countries has the least developed economy?

A Egypt
B8 Ghana
C Kenya
D Nigeria

-

224871 N2001 ' [Tum o
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33. Study the map below which shows the movement of tourists from Britain
into Europe. :

Key Tourists per year
e 3 million
I 2 million
N 4 million
I : roirion
N s ion

NL- Netherands
S - Switzerland

B

How many more British tourists went to the rest of Europe as compared to
Portugal, Spain and France?

A 2 million
B 4 million
C 6 million
D 8 million

224871 N2001
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POPUfaﬁOH; Settlement and Trade

34. The diagram below represents @ land-use model of a town.

Central Business District

Wholesale Light manufacturing

Low class residential

Medium class residential .
High class residential

Heavy manufacturing .

Outlying Business District

Residential suburb

Intdustrial suburb

0 00 =~ O U I L3 N -

. Which of the following land-use zones would represent the residence and pl'ace of
work of an unskilled worker employed_at a large metal smelting plant?

%

- A 3and1

B 4 and 2 _ unt
- C 4 and 7 - : o @
D

3and6

2248/1 N20O1 [Turn over
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35.

Study the map below.-

- s aly i % | N
o ot e |
N ] AU -)j( ~ TE VA
4 / /I" //4-:%\'"’\“}(\?\11“7\ f"-'}\. \\ JE‘{ ‘
AL Y MR
- - . WAL -
[} ST -
l'"‘ "-‘\t-:-‘- e \r o
-~ 4 " RN, <]
} = ‘\‘ N \?ﬁ‘.—c':\\\\ ar
s 3 ) ,Cor[nmerqal Farms
¥t ~_ !
AL LLAND Lal '__;’ Boundary <X “F~«_ GLAMORGAH
:";_ = ‘\-..l""\u-. Provate owrer "“\ - I 3
- f-':":——'}:\ ',-—' ‘ -‘:_.-a E
\..:r__,_: S "- P d'\.:zz
ATELAND ¢ - W %
- e -y T
: L + v Dzt
s
= - oy LY
gﬁ_ e 2 ,BURNSIDEN, ™
- -~
Gravel or Earth Road =
Other Road ..o immine s i
Track,Cut tine o Game Trail. .
Vitiage, KraalHut s s T e

Which of the following accurately describes the sett
“ communal land and commercial farms respectively?

A haphazard and circular
B linear and clustered

c dispersed and radial

D nucleated and scattered

36. Study the age - sex diagrams below.

ement pattern in the

Which of structures
mining settlement?

femazloe

B

male female

A B C or D would represent the population structure of a

-

224211 N2001
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37.

38.

Which of the following health problems would confront volunteer workers to a

- flooded settlement following a tropical cyclone?

A measles and river blindness
B malaria and cholera
Cc sleeping sickness and chicken pox

D polio and hepatitis B

" The bar graphs below show goods carried by the National Railways of Zimbabwe.

)

8

"

= g

s

(8]

& 37 Key

Z

g 2‘7/ V/ 7 Export

R 1—/ / / —

. 0//;; % 7 ///, %Import
975 1980 1

-k
o
-J

S ]
—
el

985

During which of the following period's""did the goods c_ariiéﬁ show the greatest
difference between exports and imports?

A 1970
B 1975
C 1980
b 1985

2248/1 N2001
Turn over
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39.

40.

e

Which of the following methods of transportation would be most suitable for
moving milk from a dairy farm to a large urban settiement 50 kilometres away?

A
B

C
D

air

rail
road
water

Study the graph below.

70 7
EA Exports
b | [ Imports
% :
% 50
- Value
40 1
30 4>
2]
20 1
104 - %
]
0 77
7
2
'—
b W 0
x = = g 4
EE%BD iu—
mﬁ%mgg © g v
u.IDz(JE{UJ"-'I:D
OE+-aOO0OOCFROIL

What percentage of imports by value is Other Manufactures and Chemic:als

combined?
A 35%
. B 30%
C 25%
D 15%

2248/1 N2001
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MAPWORK (1:50 000 MVUMA)

1. B 5.
3 © a. B
5. B 6 C
7. B 8. D
9. B 10. A
1. B 12. A
PHYSICAL ENVIRONMENT
3. D, 14 D
15. A 6. C
17. D 8 D

- 19. D 20. C
21. A 22. C
23. D 24. A
25. B
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26. C 27. C
28 D 29. D
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40. A
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Section A {Physical Environment)

- Answer at least one gquestion from this section.

1 (a}  Study Fig. 1 which shows the internal structure of the Earth.

(b)

1))
{ii)

{iii)
(i)

(ii)

continental plate

/—> plate boundary (—\ :

1

convection currents
¥ b :

CORE

(NIFE)
Fig. 1
Name the layers marked A, B and C. (3
What minerals make up the core of the Earth? - {2

With reference to Fig.1 and any other evidence, describe and
explain the movements of both oceanic and continental plates. (8)

Draw a labelled diagram to show the features of the flood plain
stage of a river valley. , : " (4)

What, in your view, are the benefits and problems faced by
people living in the upper and lower course of a river valley? {8)

224812 N2001
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2. (a) - Fig.2 Shows envirénmental Teatures OVar SOUTNeTn Mo

_ /2
/&
Y SN s o~ )_’L_?______TMd
, ! 8 Capricom
! §
/
s
V)

Fig. 2

_Using information from Fig. 2., answer the following questions.

i)

(ii)

{iii}

Describe and explain the differences in temperature between
Massinga and Wailvis Bay. (4)

~ State the air miass ascociated with each pressure pattern shown,
Give reasons for your answers. {4

Describe the temperature arcl humidity characteristics of the

air mass formed in the lodian Gcean. (2)
“ : P 7 : 3
2243;29.“1200\'?““{'1“‘&{*{- (('l" :}
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bf M State what each of the following weather symbols represénts:

Y | Z

y |

{3)

{M Expi'ain how the construction of dams and the development
—  of urban settlements influence weather conditions. - (6)
{c)  What weather information would you give to farmers living in high

and low rainfall areas to increase their production? (6}

224872 N20O1



3. {a) _Flrg:_ahs_ﬁﬁwmhmn’g‘ecva_'ysrchs.—" s

Fg. 3

(Ii) On your answer sheet, identify the effects 1, 2 and 3 shown. ({3}

(i} As a land development officer, what measures would you
recommend to control veldfires? _ (3}

2248/2 N20D1
i . [Turn over
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(b)

Key

Montane forest
Woodland Savanna

Fig. 4 shows the distribution of Savanna ecosystems in Zimbabwe.

— e eem e r—

[[] Parkiand (Open) Savanna ey Pl

Scrub and Mopane
- Savanna

(c)

" Fig. 4

{i) Describe the distribution of the ecosystems shown.

(i} Descrlbe the relatlonshlp between the ecosystems and the
landuses shown.

{ii) Choose one ecosystem and explain the problems which have
arisen from the landuse shown. :

Describe the positive and negative effects of irrigation to the arid
and semi-arid ecosystems. -

22482 N2001
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~‘Section B {Economic Geograpnyy -~ ~

Answer at least one guestion from Les scction,

{a) ~ Photograph A (Ins‘ert 1) shows the exploitation of the tropical rainforest.

{

{ii)

{iii)

Deséribe the methods us_ed to cut the forest. {3)

Describe the problems associated with the exp'loitation of
the tropical rainforest shown. £ ) (4}

What steps must be taken to conserve the tropical rainforest? (4)

{b) Fig. b shows coal consumptlon for energy purposes in Zimbabwe,
1855 - 1890.

ZIMBABWE: COAL CONSUMPTION FOR ENERGY PURPQSES (1955-1990)

~—— COAL CONSUMPTION WITH KARIBA
(1960 ONWARDS)

memsememms. COAL CONSUMPTION WITHOUT KARIBA
(PROJECTED FROM 1860)

6
MILLION 5
TONNES OF
COAL 4
3
e
PN/
1 I
_".""‘"--‘
? 2o 1960 1965 1970 1875 1980 1885 1950
Fig. 5
{i) Déscrib’e and explain the trends in the consﬂmption of coal
~shown. : . _ (6)
(i) State the benefits of coal to Zimbabwe. ' (B} ‘
(ii} Put forward arguments against the mining of minerals. o (3)

22462 NZODY
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(a)

(b)

Study Photographs B and C {Insert 1) which show ditferent
methods of land preparation for farming purposes.

{i)
(i)

i)

(i)

Describe the method of land preparation shown in each
photograph. _ | (8}

Explain the advantages and problems that will arise if the
method shown in C was introduced in B. {8)

Define the term 'nomadic herding' and describe the

characteristic features of nomads. ({In your answer, refer to the
traditional routes of movement followed, the animals kept and

the way of life of the nomads). (8)

- Why do you think nomadic herding is disappearing in Africa? {3)

224012 N2001 T oa
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7 e P . 2
Photograph A for Question 4{a)

© Mr, S.T. Moyo
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Mohammedia

O Addié Ababa
Mombasa i
A\ Dar-es-Salaam
Key :
A oil fields
O oil refinery

Fig. 6

{i) Describe the distribution of the oil refineries'shdwn. | {4)

i The location of oil refineries has been influenced by the market,
break-of-bulk and raw materials. Give one example of each
location and explain your answer. - - {6}

(i) State two other industries associated with oil réfining. (2

2248/2 N20C1
[Turn over
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(b}

{i}

(i)

State the inputs and outputs of iron ore smelting in a blast
furnace. _ {4}

" With reference to a named manufacturing industry you have

studied, explain why you would recommend its continued
existence to government. . - {9)

2248/2 N20O1



Answer at least one question from this section.

{a)  Table | shows the age structure of populat:on for three regtons of the world.

TABLE 1
Age Structure - % of total pdpulaﬁﬁn
Region Under 15 16 - 64 - 0vér_65
Southern Africa K 42 | ._ 54, 4
North America 25 - 64 _11
East Asia - 34 60 8

{i) Draw a pie chart, to scale, to show the age structure of
Southern Africa. e -

-

(i)  Calculate the dependencv ratio for East Agia. . - . 1)

P (111 3 Co.mpare the population chwmﬁﬁhﬂ#. (3)

(b}  Suggest solutions to the problm' o pipid pealmiio: gl i
Southern Africa. (7}

224B{2 N20O1
[Turn over
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(¢) Fig. 7 shows migration patterns in Africa.

Western
Sahara

- Key

L 4 Refugees
=4 Other migrants
Centres of
economic
activity
Rwanda
Burundi

Fig. 7

(i) Explain the term ‘pdpulation migration .'.

(il  Describe the patterns of migration slhown in Fig. 7.

(il  Explain how economic factors influence migrations.

224B/2 N2CO1
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: ‘E'r—“mmmpmrpm——-—-f—‘ i R s e

(i} *In your view, what are the reasons for this? (6) .

(il  Describe the advantages of rural life compared to that in

urban areas. {3}

{b}  Fig. 8 shows the growth of cities with more than 1 million people.

225+

+ Rey

200

175 South America

150
Africa

125 -

100 -

Number of Cities

75 —

50 i % VIS
v [TEIEL

25_. . ||l"l‘ 3

1800 1940 1960

Fig. 8

{i Descripe'thé changes in urban Qrthh shown in Fig. 8. {6}

{is} For Africa and Asia, what problems have arisen as a result

of rapid urban growth? {4)

With reference to a named urban settlement you have studied, draw

(c)
a fully labelied map to show its major landuse zones. {6}

224812 N2001
[Turn over
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9. {a) Fig. 9. shows regional and overseas direct flights for some S.A.D.C.
airlines. '

Dar-es-Salaam

Rio de Janeirp

< 4 weekly regional
flights
> 4 weekly regional
flights
— — — 0-4 weekly overseas
flights
Fig. 9 .
(i) Describe and explain the regional and overseas direct flights
shown in Fig. 9. : i {B)

(ii)  Outline the new developments that are taking place in modern _
| passenger air travel. : . (4)

{iiy There are plans to construct either an airport or a new road in

an area. State and explain the factors which influence the _
siting of one of the two. | ' (8)

2248/2 N2DO1
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(i)
i}

{iii)

'
Country A = Country B
Deﬁiop'mg il 2| Developed
S
[ (@)
V i
Country C Country [
Developing  Daveloping
il siea £
L/ g
: /
A - ¢

- Key
——> Intemnational trade

— — — in*einalirnde
Tows @ad Cilies 0 D2yt BiRg
Countries

Fig. 10

Name the internal trade marked O in Country A. C've one
reason for this type of trade in the country. oot

Explain the advantages of Country A over Cointriess Cand D

from the trade links shown in Fig. 10. - {4)

State the major exports of developed coum_ries.'-‘ {3)

2248/2 N2001 :
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GEOGRAPHY ) - | NOVEMBER 2001
2248/02
POSSIBLE ANSWERS

1. (@ () A-mantle/mesosphere
B - sima/oceanic crust

C - sial/continental crust (3)
(i) iron, nickel. o (2)
(i)  Desectiption ' Explanations .

- collision of plates - convection currents

- divergence of plates - convergence

- compressional forces
- tensional forces
- subduction of oceanic - denser

plates
- oceanic ridges/ - - divergence
rift valley _
- folding - convergenceluplift/compression
- trenches - subduction
- volcanic eruptions - faulting/folding
- earthquakes - faulting//plate movement

evidence of continents - divergence/convergence/plate
oo movement ¥
(8) {13}
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glluvium

Hard ro ck
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Diagram may also include

meanders
braiding
terraces
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b

@

- (b)

- (i)

(i) - Upper Course

Benefits

- H.E.P.

- water supplies

- tourist attraction

- water sport

- easy to build dam
walls, bridges

- fishing

Lower Course
Benefits

- alluvial plain

- ferfile soils

- more water

fishing

easier transport
easy to build routes
pastures '

() Massinga

- warmer (higher temperatures)

- small temperature range

- near to warmm ocean current
- on-shore S.E. winds bring

warm temperatures

Names
- tropical maritime(mT)

- polar maritime (mP)

(iii)
- (24- 30°C)

@  X-partly cloud

Y - drizzle

Z-

Temperature - high/warm/hot

hurricane, gale force winds/50 knots

. Problems

- difficult navigation

- difficult to set up settlement

- erosion _
- mass movement/rockfails
’ L]

Problems
- water bome diseases/bitharzia/typhoid -
- malana :
- marshes '

- flooding

- river bindness

- less water downstream

(8
{12}
[25]

Walvis Bay
- low temperature
- large temperature range
- near cold ocean current
- on shore winds very

- cold :

“)

Reasons .
- formed within the tropics
- over water

P formed outside tropics
- over water :
B @)
" Humidity — high/moist/
humid  (2)

e -\_{1.0}. 3

(3)



G e ; PR

" - evaporation lncreases ' - pollution/acid rain/smog

humidity - = urban heat islands/global
- increased cloud cover - waiming
- reduced temperature range - wind corridors/increased wind
- higher rainfall - speed
- land/iake breeze - more rainfall
~ more frequent fog/mist . - low pressure
’ - reduced sunshinefi ncreased
cloudiness
| ® {9
(c) ﬂgh Rainfall Area {8). ' Low Rainfall Area' (3)
- grow water loving crops e. g - keepigm drought resrstantltolerant
rice _ animals/crops
- control floods/dam - = practice #rigation
construction/afforestation/
dykes
- soil conservation/contour - conserve water/ damming/
ridgesfemracing ' boreholes/reservoirs.
- draining waterlogged areas - winter ploughing
- apply fertilizer to reduce . - grow short season varieties
infertifity due to leathing : ' '
- disease/pest control - cloud seeding
- weed control - -Zzero tilage

- rotational penning of ivestock - game and cattle ranching
- praciice zevo filage - mulching
- cloud seeding |

{6}
[25]
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®)

(ii)

U

(ii)

)

1. regeneration of plants, destruction of micro organisms,

destruction of humus, reduction in biodiversity
2.  deforestation, forest protection :
3. cultivation/manuring/imigation/ploughing,
~ erosion, compacting, fertilizer use/conservation

- legislation, patrols

-~ education

- fireguards

- firefighters

- early warning system:

- look-ouf towers/observation towers

" Montane forest - in the east, Nyanga, Vumba areas'
Woodlands - Bikita/Zaka/Shurugwi, Harare, Victoria Falls.

Scrub + Mopane - South and North West and North and
Waest of Zimbabwe.

~ Parkland Savanna - much of the country east and Central
Zlmbabm

Montane Forest - forestry and recreation.
Woodland Savanna - hunting and recreation.
Parkland Savanna - growing crops.. :
Scrub/Mopane Savanna ranching and \Mldllfe

Land use problems for the specific ecosystems mc!ude:. |

Scrub and Mopane , : ;
Savanna . ~overgrazing/erosion
" ' - environmental degradatlon.
- poaching -
- animal related diseases/
foot and mouth/tick borme
diseases. |

Woodlands Savanna - efosion
- siftation
- pests and diseases
- poaching
- animal extinction
- poliution
- environmental degradatlon
- migration of game

(3) |

(3) {6}

@

(4) _



(c)

Positive

Negative

0

(i)

(i)

- sitation _
- environmental degradation
- poliution .

- joss of nutrients

- desertification

Montane Forest - erosion

- deforestation
- tfand poliution
. - poaching of timber
- forest fires
- reduced biodiversity 4 {12}

water into soils, increased cover by crops

soil gains nutrients from solution and crop residues
relative humidity of air increases '

increased humus decay

reduced wind erosion

" clearance of bush/deforestation

salinisation of soils

increased desertification

impoverishment of soils/leaching

fungal diseases n N
[25)

fire, chain saws, clear cutthgﬂotal patch clearance,
axes, poiarding. {3)

buttress roots, thick vegetation, muddy, mixed/inaccessible

forests, wet conditions, humid conditions-diseases, pests,

hot/enervating conditions, bulky, heavy, climbers, wild animals,

snakes.

@

afforestation _

reforestation - :

substituting wood with other products

selective cutting

strict legisiation

ban use of fire

education

licensing/quota system

forest reserves . 4 {11}
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(ii)

(i)

Coal consumption without Kariba

1955 - 1980: rose r'fahid!y - major source -

' 1980 - 1900: rose steadily - use of alternatives

1955 - 1990 generally high - increased demand, availability
Coal consumption with Kariba

1960 - 1963: sharp decline - introduction of hydro electric power
1963 - 1970: slight decline - increased demand, availability
1870 - 1975 sharp increase - industrial growth =
1975 - 1980: steady - little demand from industry

- 1980 - 1990: slight increase - industrial growth/

_ . economic growth after the war.
1960 onwards: low generally - use of alternative
sources (6)
- _ employment creation |
- source of energy

~ industrial use - raw material

- construction of roads.

- drugs, insecticides, nylon

- expansion of Hwange Town

- market to other industries

- foreign curency eamer )

- pollution - air, nciise; land, water
- open pits, curve-ins, disasters

- spoil heaps

- fluctuation of prices
- deforestation

- soil erosion

- siltation
- resettle people @B {14

(25]

" Photograph B

- two cattle spanned
- use of ripper plough

' - traditionalidraught power

K p—



(b)

(ii)

M

(ii)

ameqrapn |

- modem tractor used
- many discs on plough/disc plough

. -~ modern/mechanised (6)

Advantages of method shown in Photograph C

- limits rate of erosion

- fast

- efficient

- Saves on human labour
- deep tilth’

- moisture conservation

Problems of method shown in Photograph C

- high costs of inputs

lack of fuel, spares, forex

reduces employment

lack of knowledge

lack of capital - ‘ 8) {14}

Definition:  movement of farmers with their
' livestock in search of water and pasture.

Animals: cattle, goats, camels, mules, sheep.

Way of life: simple, intertwined with livestock,
_ e.g. food, clothing, settlements, other
belongings, traveling light quickly pitch
up/break settiement. .

Routes latitudinal changeslseasonal changes,
s upiand versus lowland direction; e.g.
North-South and vice versa for Fulani. (8)

Reasons for the disappearance of nomadic herding

- increased population

- improved education

- - movements into town/urbanization
- governments contral movements



(b)

T e —————
EEp oo L 2y VA SRy

(i)

(il

- fencing . _ _
- legisiation ; 3) {11}
Description
- réﬁnen‘es are coastal
- some few are inland
- more refineries in West and North Africa
. few Central and East Africa
- South Africa has many refineries 4)
Locatign’and examples Explanation
Raw material, e.g Harcourt, - - near oilfields which are
Luanda, Brega coastal or offshore
Break of bulk, e.g Mombasé, - - break of bulk locations for
Dar-Es-Salaam, Durban imported crude.
- Market, e.g. Ndola, Mutare = - market oriented where
Addis Ababa, Johannesburg consumers are many.
. - wealthier and a large

market so imports

‘more crude. (6)
plastrc nylon, pa:nts car assembly drugs, detergents, e

. ingsecticides, jethes (2) (12)

Inputs
- limestone
- coking coalicoke
- iron ore
- hotair
- oxygen
- scrap iron

- tbunsnmarge areas reserved for tourism
- -sedentarisation of nomads, resettlement
- political boundaries

[25)




(iv)

(i)
(iii)

- slag (waste, fertilizer, road metal)

- hotgases

- pigiron | 4)
Iron and Steel industry/named company, e.g. Z_ISCO" '

- creation of employment B \

- development of infrastructure, e.g. roads, railways

- self sufficiency o '

- source of forex .
~  source of raw materals for other industries

- development of sacial services, e.g. schools, hospitals
- market for other industries/multiplier effects. -

.~ development of settlements
_ @ {13}
. : " : [25]
Pie Chart of age structure -
. e {|+ ; &
- o, 19
34 + 6 = 40%/ 2:3 (66.6%) LS W

 largest dependency ratio in Southem Africa

46% followed by East Asia 40% and lastly North
America. North America higher over 65. North

~ America highest economic active group, followed

by East Asia, Southemn Africa smallest. Under 15
Southem Africa has the largest followed by East y
Asia and lastly North America. ' ' &



(b)  Solutions to rapii population growth taken also as sblutions
o prablems t_hareof: . '

- family planning/birth control measures - contraceptive use,
. male sterilization, late marriages,
- education/sex education/HIV-AIDS education/advertising
- to focus on the girl child/empowement of women/
. keeping girls longer at school, poputation policy
- enhancing the status of women, incentives, e.g..
Govemment tax incentives. _ -
- legalise abortion. ' : (7)

© O

(iii)

Population migration - movement of people from-

one place to another over a considerable period

of time. - {2)
Refer to the map (figure 7) for the movements :

- Large numbers of refugees from Westem Sahara to Algena
- Sudan to Algeria.

- Sudan to Chad, Ethiopia, Uganda

. Congo to Zambia

- Somalia to Ethiopia

Other migrants to centres of economic activity.
- Nigeria to South Africa .
- Botswana to South Africa, etc (4)

Push/Pull econemic factors - better employment

opportunities, for sale of goods/trade, job promotion,

regional differences, resettiement, hlghliow standard

of living, high cost of living, economic decline/

prospenty. -G {1}
_ [25]

Reasons people look down on of rural communal life:

- [ife mainly centres on agriculture, which is taxing.
- lack of clean water supplies

- poor sanitation

- schools and clinics too far .

- unavailabilty of goods :

- poor infrastructure, roads, power supplles

- lack of entertainment



(b)

(ii)

()

(ii)

-

R e e N

-poor housing

e S T

general poverty/low standard of living

poor diet

low level of educatlorullteracy

Advantages Bf rural life over urban life;

B ot oo RN e N

®

growing of own food, little use of money, fuel free,
cleaner environment compared with urban ones,

cheap/free accommodation, more nutritious/natural foods, cheap
services, less crime, aesthetic beauty. '

- (3)

1900 - only Europe had cities with 1 million people
5 - 10 cities. '

1940 - general increase in numbers, Europe and Asia

dominate, North America, Africa and South America
small numbers

1980 - very rapld rise everywhere but more notable
in Asia, North America, Africa and South Amenca

The table summaries the changes described above:

stress on transport
over-crowdedness of buses, cars, etc
longer waiting time
sewage disposal problems, shortage of jobs, schools, clinics

crime rate increases

prostitution

Year |Asia [ South | Europe North Africa
America America
1900 | O 0 |5 0 0
1940 {15 |5 25 5 5
4980 175 |50 25 50 30
. Problems
- shortage of housing
- squatier settiements

(6)

{10}



{¢) Urban settlement; land use 4 zones

{EXAMPLE - MASVIN GO |
To Harare : To Huma, KtEY | B
) _ Gwe c8» el R
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Other examples commonly used include Gweru, Ma

Harare, Mutare, Gutu-Mupandawana.

rondera, Chegutu, Bulawayo,

; e 6 {6
(28]



@

(i)

‘More than 4 Lusaka, Harare, Lilongwe,

E

Dar-es-Salaam, Harare the core
less than 4, many from Harare, Lusaka
few flights o Luanda

nation

* Reasons lie in differences in city sizes

Levels of economic/industrial activities
Tourist attractions
Per capita incomes

Overseas: Description

Harare and L usaka dominate
Harare fiights to more paris of the world
Lusaka to Europe and the East

Explanations

- Conference centre, political stability

More cosmopolitan cities
Bigger economies

. Exports of flowers, beef

More tourist attractions

Many international conferences,
Hotel | . _
| (€)

New developments in modem passenger air travel

executive classes, entertainment of the highest quahty
use of credit cards and visas =

money exchange on aircraftitelebanking

longer direct flights without refueling

terminals more luxurious, oonnectmg ﬂlghls more efficient
larger planes _

less noise . (4)



(i) Aiport: Factors " Reasons

=~ ' flat land, open land - cheaper and easier to build on
- away from residential areas . - avoid accidents/ air and noise
N poliution.
- large land .- easy landing and taklng off
Road: Factors Reasons
-relief - along valleys - flatter, cheaper, avoid
- along watersheds mountains
- through gaps - fewer bridges, flatter good
drainage
- direct, cheap, easier
®)
. . ow _ ; - {16}
(b) () - Trade O: - retail'wholesale trade/distribution: '
- Reasons: -to sell and distribute goods, services
) - - -tosselland marketgoods @
(i)  more goods, cheaper goods
more forex, more employment, better infrastructure |
more industrialization, high living standards ' - (4)
(iii) - manufacture goods
' - chemicais
- motor vehicles
~fuels
- information technology
- skilled labour C
: _~export capitai 3) {9
- | {25] .
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